NAPLAN Mental-Maths

10-Minute Drills

180 Days (Year 3)

A comprehensive mental maths programme designed for Year 3 students

© Scholarly

How to Use This Book

Each drill is designed to take exactly 10 minutes

Students should work through questions mentally where possible
Answer keys are provided at the end of each term

Complete one drill per day for a full school year

Focus on accuracy and building mental maths fluency



Term 1: Days 1-45

Weeks 1-9

Week 1: Days 1-5

10-Minute Mental Maths Drill - Day 1

1.5x1=
2.13+12=
3.3+15=

4.6+18=

N

. What is the value of 6 in 1007?
8.15+6 =

9.18-2=

10.5+15 =

10-Minute Mental Maths Drill - Day 2

—

. What is the total of 50p and 5p?
2.15+5=
3.3x5=

4.5+13=

6.38-18 =

7.12+4 =

o

.5+b5=

©

T +1=

10.39-20 =



10-Minute Mental Maths Drill - Day 3

3.10+5=

4.20+15=

5.10+8 =

6. How many minutes in 1 hour?

7. What is the total of 100p and 10p?
8.3x5=

9.11+20=

10. How many months in 1 year?

10-Minute Mental Maths Drill - Day 4

1.5%x4=

2.23-15=

3. What is the total of 100p and 50p?
4.16+4 =

5.16-4 =

6.23-12=

7.6+2=

8.2x1=

9.33-13=

10.4 x2 =



10-Minute Mental Maths Drill - Day 5

1. What is the value of 4 in 1007?
2.17+13=

3.19-2=

4. How many days in 1 week?
5.30-13=

6.28-9=

7.2x1=

8.29-16 =

9.19+1=

10.20+7 =

Week 2: Days 6-10

10-Minute Mental Maths Drill - Day 6

1.3x3=
2.6+6=

3. How many days in 1 week?

6.27-18 =

7.20+5=

oo

. Round 11 to the nearest 10
9.4x1=

10.9+15 =



10-Minute Mental Maths Drill - Day 7

—

13-11=

2.4x5=

w

.8+ 14 =

4.2x5=

()]

. How many minutes in 1 hour?

»

. How many months in 1 year?

N

. What is the value of 5in 1007?
8.3x4=
9.2x2=

10. How many tens in 48?

10-Minute Mental Maths Drill - Day 8

1.31-19=

2. What is the total of 5p and 100p?
3.11+3=

4.12+18 =

514 +4 =

6. What is the value of 4 in 1007
7.7+17 =

8.31-20=

9.34-15=

10.2+1=



10-Minute Mental Maths Drill - Day 9

1.12+ 11 =

2.22-20=

3.23-18 =

4. What is the total of 50p and 50p?
5.6 +15=

6.12+16 =

7.14+3=

8. How many minutes in 1 hour?

9. How many tens in 367

10.32-18 =

10-Minute Mental Maths Drill - Day 10

1. What is the total of 100p and 20p?
2.2x1=

3.2+2=

4. Round 16 to the nearest 10

5. Round 11 to the nearest 10
6.3+3=

7.30-11=

8. How many months in 1 year?
9.26-9=

10. How many tens in 257

Week 3: Days 11-15



10-Minute Mental Maths Drill - Day 11

—

L2+ 17 =

2.5x5=

w

. What is the total of 100p and 20p?
4.1+10=

5.21-5=

6. How many tens in 237

7.19-2=

8.13-7=

9.29-18=

10.12-7 =

10-Minute Mental Maths Drill - Day 12

1.2x2=

2.15+5=

3.17-4 =

4.20+4=

5.35-19=

6.4x2=

7.5%x3=

8.28-13=

9. How many tens in 627

10.21-1=



10-Minute Mental Maths Drill - Day 13

3.12+15 =
4.18-8=
5.11+8=
6.25+5=
7.16+4 =

8.16 +15=

10.4 x2 =

10-Minute Mental Maths Drill - Day 14

1.5+7=

N

T7T+11=

3.16-7 =

4.20-2=

5.22-7=

6.9-8=

7.10-2=

8.32-15=

9. What is the total of 50p and 10p?

10.8+2=



1

2

()]

»

N

©

1

I

10. Round 21 to the nearest 10

.33-19 =
3x4=
.19-10 =

.5+ 1

.13+ 1=
.6+14 =
. Round 13 to the nearest 10

.3%x2=

10-Minute Mental Maths Drill - Day 15

. What is the value of 3 in 100?

0.2x3=

3x1=
21-2=
10+5=
.20-6=
8+4-=

.5x1=

.25+56=

.16 +4=

10+19 =

Week 4: Days 16-20

10-Minute Mental Maths Drill - Day 16



10-Minute Mental Maths Drill - Day 17

. How many days in 1 week?
. Round 23 to the nearest 10
. How many tens in 827

A7 -1 =

.20-13=

.28-10=

.18+ 11 =

.19-5=

.2x1=

10.1+3 =

9.

10-Minute Mental Maths Drill - Day 18

.14 -12 =

. How many tens in 807
.6+8=

.18-13 =

.10-2=

. What is the value of 8 in 1007?
.20+ 8=

.12+ 20 =

What is the total of 100p and 20p?

10.20+ 5=



10-Minute Mental Maths Drill - Day 19

1. How many tens in 247
2.2+2=

3.33-16=

4.25-13 =

5,16 +4 =

6.15+13 =

7. Round 33 to the nearest 10
8.6+18=

9.10-7=

10.22-10 =

10-Minute Mental Maths Drill - Day 20

1.26-14 =

2.23-10=

3. How many minutes in 1 hour?
4.19+8=

5.4+20=

6.12+15=

7.26-14 =

8.3+3=

9.16 + 16 =

10. Round 26 to the nearest 10

Week 5: Days 21-25



10-Minute Mental Maths Drill - Day 21

1.23-4=

2.9-8=

3.22-16 =

4.23-9=

5.3x3=

6.20+9=

7. What is the total of 20p and 10p?
8.23-4=

9.3+3=

10.37-18 =

10-Minute Mental Maths Drill - Day 22

1.12+17 =

N

.1+10 =

3.15-2=

4.18-2=

5. Round 20 to the nearest 10
6.3x4=

7.16 +4 =

8.4+3=

9. What is the total of 50p and 50p?

10.10 + 16 =



1

—

w

»

oo

9

10-Minute Mental Maths Drill - Day 23

.8+7=
.12-2=
.16+ 4 =
.M +4=
.28-18 =
. How many tens in 227

7+ 11

13+2=
.23-7=

0.26-16 =

10-Minute Mental Maths Drill - Day 24

.29-16=

4 +1=

. What is the total of 50p and 50p?
.21-15=

7T+4=

.10+3 =

.6+3=

L9+17 =

4+7=

10.6 +2 =



10-Minute Mental Maths Drill - Day 25

1. How many tens in 10?
2.3x1=

3.7-2=

4.18+2=

5.18+5=

6.11+6=

7.8+6=

8.7+5=

9. What is the value of 5in 1007

10.19+ 14 =
Week 6: Days 26-30
10-Minute Mental Maths Drill - Day 26
1.3+3=
2.16-2=
3.33-20=

4. What is the value of 3 in 1007?
5.29-20=

6.17+11 =

7. What is the total of 100p and 100p?
8.10+10 =

9.1+4=

10.5+20 =



10-Minute Mental Maths Drill - Day 27

1.3x3=

2.17+10=
3.30-18 =
4.19-12=

5.20-18 =

8.8+13=
9.29-10=

10.5+1=

10-Minute Mental Maths Drill - Day 28

—

.31-17 =

2.4x5=

w

. What is the total of 50p and 20p?
4.2+2=

5.31-13=

6. How many tens in 607

7.5x2=

8.18-15=

9.3x2=

10. Round 19 to the nearest 10



10-Minute Mental Maths Drill - Day 29

1.20+16 =

2.37-19=

3.14+2=

4.2x3=

5. What is the total of 100p and 100p?
6.20+4 =

7.16+4 =

8.6+13=

©

.2+14 =

10.17 +12 =

10-Minute Mental Maths Drill - Day 30

1.7+1=
2.20-16=
3.8+1=
4.4+11=
5.15+10 =
6.9-3=
7.7+4=
8.22-13=
9.15+3=

10.20-15=

Week 7: Days 31-35



10-Minute Mental Maths Drill - Day 31

1.33-16=

2.19+10=

3. What is the total of 100p and 100p?
4.28-9=

5.8-7=

6.9+5=

7.9+8=

8. What is the total of 50p and 100p?
9.13+1=

10.22-15=

10-Minute Mental Maths Drill - Day 32

1.4x1=

N

. How many tens in 747
3.3x2=

4.2+14 =

5.18-2=

6.14+1=

7.13-7=

8.20-13 =

9.19-1=

10.15+19 =



10-Minute Mental Maths Drill - Day 33

1.17-1=

2.21-18=

3.17+18 =

4.13-1=

5.15+3 =

6.3x4=

7. What is the total of 50p and 20p?
8. What is the value of 8 in 1007
9.6-3=

10. How many minutes in 1 hour?

10-Minute Mental Maths Drill - Day 34

—

. How many days in 1 week?
2.20+18 =
3.3x2=

4.9+15=

()]

4+11=

»

. What is the value of 4 in 1007?
7.3x4=
8.3x3=
9.8+4=

10.7+1=



10-Minute Mental Maths Drill - Day 35

1.6+9=

2. How many tens in 307
3.3+19=

4.19-8=

5.30-17 =

6.9+15=

7.19+10=

8.2x1=

9.21-4=

10.1+6 =

Week 8: Days 36-40

10-Minute Mental Maths Drill - Day 36

—

. How many tens in 267
2.3x1=

3.12+14 =
4.25-16 =

5.8+4=

6.2x3=

~

14+5=

oo

. Round 21 to the nearest 10
9.4x5=

10.12+ 11 =



10-Minute Mental Maths Drill - Day 37

1.16 +18 =

2.18+9=

3.7-6=

4. What is the total of 20p and 10p?

5.22-19=

8.19+19=
9. What is the total of 20p and 50p?

10.27 -16 =

10-Minute Mental Maths Drill - Day 38

—

. Round 38 to the nearest 10

2.4x3=

w

12+56=

4.5x3=

5.7+2=

6.11+15=

7.10+5=

8.18 +19=

9.156+5=

10.1+10=



10-Minute Mental Maths Drill - Day 39

1.8+8=

2. Round 27 to the nearest 10
3.19+12 =

4.20+4=

511-9=

6. How many minutes in 1 hour?
7.11+20 =

8.30-12=

9.26-14 =

10.14-2 =

10-Minute Mental Maths Drill - Day 40

1. How many tens in 457

2. Round 35 to the nearest 10
3.5+5=

4. What is the value of 5 in 1007
5.8+2=

6.10+5=

7.16+3 =

8.28-18 =

Week 9: Days 41-45



10-Minute Mental Maths Drill - Day 41

1.21-12=

2.28-19=

3.14+14 =

4.32-19=

5.9+ 11 =

6.23-16=

7. What is the total of 100p and 20p?
8.38-20=

9.4+7=

10.2x 5=

10-Minute Mental Maths Drill - Day 42

1.14+18 =

2. Round 50 to the nearest 10
3.2x1=

4.5x5=

5. How many tens in 407?
6.28-8=

7.20+17 =

8. How many minutes in 1 hour?
9. How many tens in 417?

10. What is the total of 5p and 20p?



N

10-Minute Mental Maths Drill - Day 43

11-4=
4 +12=
.11 +18 =
12-7=
.16 +4 =
.15+56=
.5x3=
.9+6=

.9+6=

10.13+2 =

9.

10-Minute Mental Maths Drill - Day 44

. Round 12 to the nearest 10

. What is the value of 3 in 1007
.3x2=

. Round 45 to the nearest 10
.11 +15=

28 -16 =

10.22-7 =



10-Minute Mental Maths Drill - Day 45

1.5+5=

2. How many tens in 407

3. What is the total of 20p and 100p?
4.31-20=

5. What is the value of 3 in 1007?
6.2x5=

7.7+17 =

8. What is the value of 7 in 1007
9.17+19=

10.24 -13 =



Term 1 Answer Keys (Days 1-45)

Day 1 Answers:

1.5x1=Answer: 5

2.13 + 12 = Answer: 25

3.3+ 15 = Answer: 18

4.6 + 18 = Answer: 24

5.10 + 5 = Answer: 2

6.3 x 2 = Answer: 6

7. What is the value of 6 in 100? Answer: Varies
8. 15 + 6 = Answer: 21

9.18 - 2 = Answer: 16

10. 5 + 15 = Answer: 20
Day 2 Answers:

1. What is the total of 50p and 5p? Answer: 55p
2.15+ 5= Answer: 3

3.3 x 5= Answer: 15

4.5+ 13 = Answer: 18

5.6 + 3 = Answer: 2

6. 38 - 18 = Answer: 20

7.12 +4 = Answer: 3

8.5+ 5= Answer: 1

©

.7+ 1=Answer: 8

10. 39 - 20 = Answer: 19

Day 3 Answers:

1.9 + 3 = Answer: 3
2.3+ 9 =Answer: 12
3.10 + 5 = Answer: 15

4.20 + 15 = Answer: 35



5.10 + 8 = Answer: 18

6. How many minutes in 1 hour? Answer: 60 minutes
7. What is the total of 100p and 10p? Answer: 110p
8.3 x 5 = Answer: 15

9. 11 + 20 = Answer: 31

10. How many months in 1 year? Answer: 12 months

Day 4 Answers:

1.5 x 4 = Answer: 20

2.23-15=Answer: 8

3. What is the total of 100p and 50p? Answer: 150p
4.16 + 4 = Answer: 4

5.16 - 4 = Answer: 12

6.23-12 = Answer: 11

7.6+ 2= Answer: 3

8.2 x 1 = Answer: 2

9.33-13 = Answer: 20

10.4 x 2 = Answer: 8

Day 5 Answers:

1. What is the value of 4 in 1007 Answer: Varies
2.17 + 13 = Answer: 30

3.19 -2 = Answer: 17

4. How many days in 1 week? Answer: 7 days
5.30 - 13 = Answer: 17

6.28 -9 = Answer: 19

7.2 x1=Answer: 2

8.29 - 16 = Answer: 13

9.19 + 1 = Answer: 20

10. 20 + 7 = Answer: 27

Day 6 Answers:



1.3 x 3 = Answer: 9

N

.6 + 6 = Answer: 12

w

. How many days in 1 week? Answer: 7 days
4.3 + 3 = Answer: 1

5.5 x 3 = Answer: 15

»

.27 - 18 = Answer: 9

N

.20 + 5= Answer: 4

oo

. Round 11 to the nearest 10 Answer: Varies
9.4 x 1 =Answer: 4

10. 9 + 15 = Answer: 24

Day 7 Answers:

—

.13 -11 = Answer: 2
2.4 x5 = Answer: 20
3.8 + 14 = Answer: 22

4.2 x5=Answer: 10

($)]

. How many minutes in 1 hour? Answer: 60 minutes

»

. How many months in 1 year? Answer: 12 months
7. What is the value of 5 in 1007 Answer: Varies
8.3 x 4 = Answer: 12

9.2 x 2= Answer: 4

10. How many tens in 487 Answer: Varies

Day 8 Answers:

1.31-19 = Answer: 12

2. What is the total of 5p and 100p? Answer: 105p
3.11 + 3 = Answer: 14

4.12 + 18 = Answer: 30

5.14 + 4 = Answer: 18

6. What is the value of 4 in 1007 Answer: Varies
7.7+ 17 = Answer: 24

8. 31 -20 = Answer: 11



9.34 - 15 = Answer: 19

10. 2 + 1 = Answer: 3
Day 9 Answers:

1.12 + 11 = Answer: 23

2.22-20 = Answer: 2

3.23-18 = Answer: 5

4. What is the total of 50p and 50p? Answer: 100p
5.6 + 15 = Answer: 21

6. 12 + 16 = Answer: 28

7.14 + 3 = Answer: 17

8. How many minutes in 1 hour? Answer: 60 minutes
9. How many tens in 36? Answer: Varies

10. 32 - 18 = Answer: 14

Day 10 Answers:

1. What is the total of 100p and 20p? Answer: 120p
2.2 x1=Answer: 2

3.2+ 2= Answer: 1

4. Round 16 to the nearest 10 Answer: Varies

5. Round 11 to the nearest 10 Answer: Varies

6.3 + 3 = Answer: 1

7.30-11 = Answer: 19

8. How many months in 1 year? Answer: 12 months
9.26 -9 = Answer: 17

10. How many tens in 257 Answer: Varies

Day 11 Answers:

1.2+ 17 = Answer: 19
2.5 x 5= Answer: 25
3. What is the total of 100p and 20p? Answer: 120p

4.1+ 10 = Answer: 11



5.21-5 = Answer: 16

6. How many tens in 23? Answer: Varies
7.19 - 2 = Answer: 17

8.13 -7 = Answer: 6

9.29 - 18 = Answer: 11

10. 12 -7 = Answer: 5

Day 12 Answers:

1.2 x 2 =Answer: 4

2.15+ 5= Answer: 3

3.17 -4 = Answer: 13

4.20 + 4 = Answer: 5

5.35-19 = Answer: 16

6.4 x 2 = Answer: 8

7.5 x 3 = Answer: 15

8.28 - 13 = Answer: 15

9. How many tens in 62?7 Answer: Varies

10. 21 -1 = Answer: 20

Day 13 Answers:

1.8 -4 = Answer: 4
2.4 x 3 = Answer: 12
3.12 + 15 = Answer: 27
4.18 - 8 = Answer: 10
5.11 + 8 = Answer: 19
6. 25+ 5 = Answer: 5
7.16 +4 = Answer: 4

8. 16 + 15 = Answer: 31
9.3+ 3 =Answer: 1

10.4 x 2 = Answer: 8

Day 14 Answers:



1.5+ 7 = Answer: 12

2.7+ 11 = Answer: 18

3.16 -7 = Answer: 9

4.20-2 = Answer: 18

5.22 -7 = Answer: 15

6.9 -8 =Answer: 1

7.10 -2 = Answer: 8

8.32 - 15 = Answer: 17

9. What is the total of 50p and 10p? Answer: 60p

10. 8 + 2 = Answer: 4

Day 15 Answers:

—

.33 -19 = Answer: 14

2.3 x4 =Answer: 12

w

.19-10 = Answer: 9

4.5+ 11 = Answer: 16

5.13 + 1 = Answer: 14

6.6 + 14 = Answer: 20

7. Round 13 to the nearest 10 Answer: Varies
8.3 x 2 = Answer: 6

9. What is the value of 3 in 1007 Answer: Varies

10. 2 x 3 = Answer: 6

Day 16 Answers:

1.3 x1=Answer: 3
2.21-2 = Answer: 19
3.10 + 5 = Answer: 2
4.20 -6 = Answer: 14
5.8 +4 = Answer: 2
6.5 x 1 =Answer: 5
7.25+ 5= Answer: 5

8.16 +4 = Answer: 4



9.10 + 19 = Answer: 29

10. Round 21 to the nearest 10 Answer: Varies

Day 17 Answers:

1. How many days in 1 week? Answer: 7 days
2. Round 23 to the nearest 10 Answer: Varies
3. How many tens in 82?7 Answer: Varies
4.17 - 11 = Answer: 6

5.20 - 13 = Answer: 7

6.28 - 10 = Answer: 18

7.18 + 11 = Answer: 29

8.19 -5 = Answer: 14

9.2 x 1= Answer: 2

10. 1 + 3 = Answer: 4

Day 18 Answers:

1.14 - 12 = Answer: 2

2. How many tens in 80? Answer: Varies

3.6 + 8 = Answer: 14

4.18 - 13 = Answer: 5

5.10-2 = Answer: 8

6. What is the value of 8 in 1007 Answer: Varies
7.20 + 8 = Answer: 28

8. 12 + 20 = Answer: 32

9. What is the total of 100p and 20p? Answer: 120p

10. 20 + 5 = Answer: 4

Day 19 Answers:

1. How many tens in 24?7 Answer: Varies
2.2 +2=Answer: 1
3.33 - 16 = Answer: 17

4.25-13 = Answer: 12



5.16 + 4 = Answer: 4

6. 15+ 13 = Answer: 28

7. Round 33 to the nearest 10 Answer: Varies
8.6 + 18 = Answer: 24

9.10-7 = Answer: 3

10. 22 - 10 = Answer: 12

Day 20 Answers:

1.26 - 14 = Answer: 12

2.23-10 = Answer: 13

3. How many minutes in 1 hour? Answer: 60 minutes
4.19 + 8 = Answer: 27

5.4 + 20 = Answer: 24

6. 12 + 15 = Answer: 27

7.26 -14 = Answer: 12

8.3 + 3 = Answer: 1

9.16 + 16 = Answer: 32

10. Round 26 to the nearest 10 Answer: Varies

Day 21 Answers:

1.23 -4 = Answer: 19

2.9-8=Answer: 1

3.22 -16 = Answer: 6

4.23-9 = Answer: 14

5.3 x 3 = Answer: 9

6. 20 + 9 = Answer: 29

7. What is the total of 20p and 10p? Answer: 30p
8.23 -4 = Answer: 19

9.3+ 3 =Answer: 1

10. 37 - 18 = Answer: 19

Day 22 Answers:



1.12 + 17 = Answer: 29

2.1+ 10 = Answer: 11

3.15-2 = Answer: 13

4.18 - 2 = Answer: 16

5. Round 20 to the nearest 10 Answer: Varies
6.3 x4 = Answer: 12

7.16 +4 = Answer: 4

oo

.4 + 3 =Answer: 7
9. What is the total of 50p and 50p? Answer: 100p

10. 10 + 16 = Answer: 26

Day 23 Answers:

1.8 + 7 = Answer: 15

2.12-2 = Answer: 10

3. 16 + 4 = Answer: 20

4.11 + 4 = Answer: 15

5.28 - 18 = Answer: 10

6. How many tens in 22?7 Answer: Varies
7.7+ 11 = Answer: 18

8. 13 + 2 = Answer: 15

9.23 -7 = Answer: 16

10. 26 - 16 = Answer: 10

Day 24 Answers:

—

.29 -16 = Answer: 13

2.4+ 1=Answer: 5

w

. What is the total of 50p and 50p? Answer: 100p

N

.21 -15= Answer: 6

($)]

.7 +4 = Answer: 11
6. 10 + 3 = Answer: 13
7.6 + 3 = Answer: 2

8.9 + 17 = Answer: 26



9.4 +7 = Answer: 11

10. 6 + 2 = Answer: 8

Day 25 Answers:

. How many tens in 107 Answer: Varies
.3 x1=Answer: 3

. 7-2=Answer: 5

.18 + 2 = Answer: 20

.18 + 5 = Answer: 23

.11 + 6 = Answer: 17

.8 + 6 = Answer: 14

.7 +5=Answer: 12

. What is the value of 5in 100? Answer: Varies

10. 19 + 14 = Answer: 33

8.

9.

Day 26 Answers:

.3+ 3 =Answer: 1

.16 - 2 = Answer: 14

.33 -20 = Answer: 13

. What is the value of 3 in 100? Answer: Varies
.29 - 20 = Answer: 9

.17 + 11 = Answer: 28

. What is the total of 100p and 100p? Answer: 200p

10 + 10 = Answer: 20

1+ 4 = Answer: 5

10. 5 + 20 = Answer: 25

1.

2.

3.

4.

Day 27 Answers:

3 x 3 =Answer: 9
17 + 10 = Answer: 27
30 -18 = Answer: 12

19 -12 = Answer: 7



5.20 - 18 = Answer: 2
6.2 x 3 = Answer: 6
7.22 -18 = Answer: 4
8.8 + 13 = Answer: 21
9.29-10 = Answer: 19

10. 5 + 1 = Answer: 6

Day 28 Answers:

—

.31-17 = Answer: 14

2.4 x5 = Answer: 20

w

. What is the total of 50p and 20p? Answer: 70p

4.2+ 2 =Answer: 1

&)

.31-13 = Answer: 18

»

. How many tens in 60?7 Answer: Varies
7.5 x 2= Answer: 10

8.18 - 15 = Answer: 3

9.3 x 2 = Answer: 6

10. Round 19 to the nearest 10 Answer: Varies

Day 29 Answers:

1.20 + 16 = Answer: 36

N

.37 -19 = Answer: 18

3.14 + 2 = Answer: 16

D

.2 x 3 =Answer: 6

($)]

. What is the total of 100p and 100p? Answer: 200p
6. 20 + 4 = Answer: 5

7.16 +4 = Answer: 4

8.6 + 13 = Answer: 19

9.2+ 14 = Answer: 16

10. 17 + 12 = Answer: 29

Day 30 Answers:



9.

1

7.
8.

9

.7+ 1=Answer: 8
.20 - 16 = Answer: 4
.8+ 1=Answer: 9
.4 +11 = Answer: 15
.15+ 10 = Answer: 25
.9 -3 =Answer: 6

.7 +4 = Answer: 11
.22 -13 = Answer: 9
15 + 3 = Answer: 18

0.20-15 = Answer: 5

.33 -16 = Answer: 17

.19 + 10 = Answer: 29

Day 31 Answers:

. What is the total of 100p and 100p? Answer: 200p

.28 -9 = Answer: 19
.8 -7 = Answer: 1
.9+ 5=Answer: 14

9 + 8 = Answer: 17

.13+ 1 = Answer: 14

10.22 - 15 = Answer: 7

N

oo

.4 x 1 =Answer: 4

. How many tens in 747 Answer: Varies

.3 x 2 =Answer: 6

.2+ 14 = Answer: 16

.18 -2 = Answer: 16

.14 + 1 = Answer: 15

.13 -7 = Answer: 6

.20-13 = Answer: 7

What is the total of 50p and 100p? Answer: 150p

Day 32 Answers:



9.19-1 = Answer: 18

10. 15 + 19 = Answer: 34

Day 33 Answers:

1.17 - 1 = Answer: 16

2.21-18 = Answer: 3

3.17 + 18 = Answer: 35

4.13 -1 = Answer: 12

5.15 + 3 = Answer: 5

6.3 x4 = Answer: 12

7. What is the total of 50p and 20p? Answer: 70p
8. What is the value of 8 in 1007 Answer: Varies
9.6 -3 =Answer: 3

10. How many minutes in 1 hour? Answer: 60 minutes

Day 34 Answers:

—

. How many days in 1 week? Answer: 7 days
2.20 + 18 = Answer: 38

3.3 x 2 = Answer: 6

4.9+ 15 = Answer: 24

5.4 + 11 = Answer: 15

6. What is the value of 4 in 1007 Answer: Varies
7.3 x4 = Answer: 12

8.3 x 3 = Answer: 9

9.8 +4 = Answer: 12

10.7 + 1 = Answer: 8

Day 35 Answers:

1.6 + 9 = Answer: 15
2. How many tens in 30? Answer: Varies
3.3 + 19 = Answer: 22

4.19 - 8 = Answer: 11



5.30-17 = Answer: 13
6.9 + 15 = Answer: 24
7.19 + 10 = Answer: 29
8.2 x 1= Answer: 2
9.21-4 = Answer: 17

10.1 + 6 = Answer: 7

Day 36 Answers:

—

. How many tens in 267 Answer: Varies

2.3 x1=Answer: 3

3.12 + 14 = Answer: 26

4.25-16 = Answer: 9

5.8 +4 = Answer: 2

6.2 x 3 = Answer: 6

7.14 + 5= Answer: 19

8. Round 21 to the nearest 10 Answer: Varies
9.4 x 5= Answer: 20

10. 12 + 11 = Answer: 23

Day 37 Answers:

1.16 + 18 = Answer: 34

2. 18 + 9 = Answer: 27

3.7 -6 =Answer: 1

4. What is the total of 20p and 10p? Answer: 30p
5.22-19 = Answer: 3

6.9 + 3 = Answer: 12

7.5+5=Answer: 1

8. 19 + 19 = Answer: 38

9. What is the total of 20p and 50p? Answer: 70p

10. 27 - 16 = Answer: 11

Day 38 Answers:



—

. Round 38 to the nearest 10 Answer: Varies
2.4 x 3 = Answer: 12

3.12 + 5= Answer: 17

4.5 x 3 = Answer: 15

5.7 + 2= Answer: 9

6. 11 + 15 = Answer: 26

7.10 + 5 = Answer: 2

8. 18 + 19 = Answer: 37

9.15+ 5= Answer: 3

10. 1 + 10 = Answer: 11

Day 39 Answers:

1.8 + 8 = Answer: 16

2. Round 27 to the nearest 10 Answer: Varies

3.19 + 12 = Answer: 31

4.20 + 4 = Answer: 5

5.11-9 = Answer: 2

6. How many minutes in 1 hour? Answer: 60 minutes
7.11 + 20 = Answer: 31

8.30-12 = Answer: 18

9.26 - 14 = Answer: 12

10. 14 - 2 = Answer: 12

Day 40 Answers:

1. How many tens in 45? Answer: Varies

2. Round 35 to the nearest 10 Answer: Varies
3.5+ 5=Answer: 1

4. What is the value of 5 in 1007 Answer: Varies
5.8 + 2= Answer: 4

6. 10 + 5 = Answer: 2

7.16 + 3 = Answer: 19

8.28 - 18 = Answer: 10



9

.5 x4 =Answer: 20

10. 16 - 7 = Answer: 9

9

Day 41 Answers:

.21-12 = Answer: 9

.28 - 19 = Answer: 9

.14 + 14 = Answer: 28

.32 -19 = Answer: 13

.9+ 11 = Answer: 20

.23 -16 = Answer: 7

. What is the total of 100p and 20p? Answer: 120p
.38 -20 = Answer: 18

.4 +7 = Answer: 11

10. 2 x 5 = Answer: 10

Day 42 Answers:

.14 + 18 = Answer: 32

. Round 50 to the nearest 10 Answer: Varies

.2 x1=Answer: 2

.5 x5 =Answer: 25

. How many tens in 407 Answer: Varies

. 28 - 8 = Answer: 20

.20 + 17 = Answer: 37

. How many minutes in 1 hour? Answer: 60 minutes

. How many tens in 41? Answer: Varies

10. What is the total of 5p and 20p? Answer: 25p

1

2

3
4

Day 43 Answers:

.11 -4 = Answer: 7
.4 +12 = Answer: 16
.11 + 18 = Answer: 29

.12 -7 = Answer: 5



5.16 + 4 = Answer: 4
6. 15+ 5 = Answer: 3
7.5 x 3 = Answer: 15
8.9 + 6 = Answer: 15
9.9 + 6 = Answer: 15

10. 13 + 2 = Answer: 15

Day 44 Answers:

1.14 - 13 = Answer: 1

2.3-1=Answer: 2

3.8 +7 = Answer: 15

4. Round 12 to the nearest 10 Answer: Varies
5. What is the value of 3 in 100? Answer: Varies
6.3 x 2 = Answer: 6

7. Round 45 to the nearest 10 Answer: Varies
8. 11 + 15 = Answer: 26

9.28 - 16 = Answer: 12

10. 22 - 7 = Answer: 15

Day 45 Answers:

1.5+ 5= Answer: 1

N

. How many tens in 407 Answer: Varies

w

. What is the total of 20p and 100p? Answer: 120p

I

.31 -20 = Answer: 11

($)]

. What is the value of 3 in 100? Answer: Varies
6.2 x 5= Answer: 10

7.7+ 17 = Answer: 24

8. What is the value of 7 in 100? Answer: Varies
9.17 + 19 = Answer: 36

10. 24 - 13 = Answer: 11



Term 2: Days 46-90

Weeks 10-18

Week 10: Days 46-50

10-Minute Mental Maths Drill - Day 46

1.72+9=

2.28+7=

3.4x5=

4.25-13 =

5.16 + 12 =

6. How many tens in 1207

7. Round 83 to the nearest 100
8.29-6=

9.22+10=

10.42 +6 =

10-Minute Mental Maths Drill - Day 47

1.18-12=

2.9+17 =

3. How many days in 6 weeks?
4.15+3 =

5.21+21=

6.17-11=

7.16+19 =

8.16 +13 =

9. How many tens in 1547

10.30+5=



10-Minute Mental Maths Drill - Day 48

1.20+4 =

2.28+4=

3.8x4=

4,22-7=

5.20+10 =

6. Continue the pattern: 7, 19,26, _ ,

7.21+7=

8.9+14 =

9. What fraction is shaded if 1 out of 2 parts are coloured?

10.9x 5=

10-Minute Mental Maths Drill - Day 49

1.8+5=

2.48+6=

3. Continue the pattern: 4, 14,21, |,

4.14 +17 =

5.6 x3=

6.6 x5=

7. What fraction is shaded if 1 out of 2 parts are coloured?
8.33-25=

9.24 +8 =

10. Which is heavier: 355 g or 1 kg?



1

(&)

o N

I

10-Minute Mental Maths Drill - Day 50

. How much change from £5 if you spend £3.357?

. How many hundreds in 143?

.10x 5=

. How many 10p coins do you need to make £3.907?
.50+ 5=

. Which is heavier: 757 g or 1 kg?

.42-16 =

0. How many 10p coins do you need to make £3.707?

Week 11: Days 51-55

10-Minute Mental Maths Drill - Day 51

.2%x3=

12+2=

.20+9=

. How many 10p coins do you need to make £5.407?

. What fraction is shaded if 1 out of 2 parts are coloured?
4 x5=

. What is the value of 1 in 1537

.Countin 6s: 14,20,26, ,

6x3=

10.39-22 =



10-Minute Mental Maths Drill - Day 52

1.10+15=

2.27+11 =

3.33-25=

4.48 +6 =

5. Continue the pattern: 5, 19,24, |,
6. How many hundreds in 1177?

7.19+11 =

8.Countin7s:0,7,14, ,

9. How many days in 7 weeks?

10.37-18 =

10-Minute Mental Maths Drill - Day 53

1.17+10 =

2. Round 159 to the nearest 100
3.60+10=

4.8+4=

5. Round 175 to the nearest 100
6.37-9=

7.37-18 =

8.18+2=

9.27+9=

10. Which is longer: 87 cm or 1 m?



10-Minute Mental Maths Drill - Day 54

1.10x4 =

2. How many tens in 877

3.10 x4 =

4. What fraction is shaded if 1 out of 4 parts are coloured?
5. How many tens in 39?

6.7x5=

7.18+9=

8. How much change from £5 if you spend £3.357?
9.27+9=

10. Continue the pattern: 8, 14,22, |,

10-Minute Mental Maths Drill - Day 55

1. How many hundreds in 1137
2.10x4 =

3.60+10 =

4. Countin9s:7,16,25, ,
5.45-17 =

6. Round 144 to the nearest 100

8.6+3=

9.35-30=

10. What fraction is shaded if 1 out of 2 parts are coloured?

Week 12: Days 56-60



10-Minute Mental Maths Drill - Day 56

.9+18 =

.43 -15=

.27 +16 =

.20+ 7=

.29+6=

. Continue the pattern: 8, 11,28, ,
.15+5=

. Which is longer: 15 cm or 1 m?

.6x3=

10.24 + 29 =

9.

10-Minute Mental Maths Drill - Day 57

. Continue the pattern: 4, 10,24, |,
.29+ 27 =

.33-6=

. What time is 54 minutes after 3:00?
.9x5=

.60+10=

12-7=

14 +7 =

45+ 5=

10. 14 +19 =



10-Minute Mental Maths Drill - Day 58

. Continue the pattern: 3, 16,20, ,
.33-19=

.35-20=

. Continue the pattern: 2, 14,28, ,
.48+ 6 =

. How many tens in 185?

. Round 44 to the nearest 10

. How many days in 7 weeks?

.13 +56=

10.5 x4 =

8.

9.

10-Minute Mental Maths Drill - Day 59

.24 -9 =

. Round 199 to the nearest 100
.20+19=

. Continue the pattern: 6, 11,24, |,
.30+6=

. What time is 40 minutes after 4:00?

.Countin4s:2,6,10, ,

38-12 =

23+18 =

10. Continue the pattern: 2, 19,29, |,



10-Minute Mental Maths Drill - Day 60

1. How much change from £5 if you spend £2.057?
2.10+16 =

3.40-13=

4. Round 119 to the nearest 100

5.33-11=

6.23-11=

7.37-11=

8.10x 3=

9.27+23 =

10.6 x 3 =

Week 13: Days 61-65

10-Minute Mental Maths Drill - Day 61

—

.Countin9s:5,14,23, ,

N

.29+8=

3.2x2=

4. How much change from £5 if you spend £2.65?
5.10x 2=

6.5%x6=

~

. What fraction is shaded if 1 out of 2 parts are coloured?

oo

. What fraction is shaded if 1 out of 2 parts are coloured?
9.6x2=

10. Round 36 to the nearest 10



10-Minute Mental Maths Drill - Day 62

1. Round 34 to the nearest 10
2.31-26=

3.17+11 =

4.24 +25=

5.25-6=

6.9x2=
7.Countin4s:1,5,9, |,
8.24+3 =

9.2x4=

10.29 +19 =

10-Minute Mental Maths Drill - Day 63

—

.49-25=

2.36 +4 =

w

.8+ 17 =

4.39-12=

()]

.5+29=

»

. What is the value of 7 in 1697
7.9%x3=

8.33-22=

9. What time is 11 minutes after 6:007?

10.30-21=



10-Minute Mental Maths Drill - Day 64

1. Countin 7s: 20, 27,34,  ,

2. How many 10p coins do you need to make £5.507?
3. Round 61 to the nearest 10

4.15+13 =

5.32+4 =

6.35+=7=

7.4%x3=

8.64 +8=

9.8+4=

10. Which is longer: 16 cm or 1 m?

10-Minute Mental Maths Drill - Day 65

1.9x5=

2.12+2=

3.64+8=

4.2x6=

5.10x 3 =

6.72+8=

7.46-19 =

8. Countin 5s:6,11,16, ,

9. What fraction is shaded if 1 out of 4 parts are coloured?

10. What is the value of 6 in 1767

Week 14: Days 66-70



1

9

10.2x5

10-Minute Mental Maths Drill - Day 66

.6+30=

. Continue the pattern: 5, 13,30, ,

. Which is heavier: 576 g or 1 kg?

.15+ 28 =

.90+10=

.Countin3s:2,5,8, ,

. How much change from £5 if you spend £4.05?

. What fraction is shaded if 3 out of 4 parts are coloured?
. Round 97 to the nearest 10

0. Countin10s:2,12,22, ,

10-Minute Mental Maths Drill - Day 67

LT x6=

. Which is longer: 73 cm or 1 m?

.70+10 =

. How many days in 5 weeks?

. Which is heavier: 688 g or 1 kg?

. Which is longer: 27 cm or 1 m?

.30+22=

. How much change from £5 if you spend £3.95?

.8+ 11



10-Minute Mental Maths Drill - Day 68

1.6%x4=

2. What time is 13 minutes after 8:007?

3. How many minutes in 2 hours?
4.5x5=

5. Continue the pattern: 5, 20,30, ,
6.32+4=

7.23+16 =

8.38-8=

9. How many tens in 207

10. Countin 5s: 13, 18,23,  ,

10-Minute Mental Maths Drill - Day 69

—

. How many 10p coins do you need to make £2.607?
2.12+22=

3.8x4=

4. What time is 16 minutes after 10:007?

5.2x6=

6.5+26=

7.5%x2=

8.22+28 =

9.4x4=

10. How many 10p coins do you need to make £5.107?



10-Minute Mental Maths Drill - Day 70

. How much change from £5 if you spend £1.657?
.Countin3s:13,16,19, |,

.48 +6 =

.Countin 5s:12,17,22, ,

. How many hundreds in 1077

. How many 10p coins do you need to make £4.607?
.16-9=

10+ 17 =

.45-15=

10.27 +9 =

9

Week 15: Days 71-75

10-Minute Mental Maths Drill - Day 71

. Round 150 to the nearest 100

.22-9=

.Countin4s: 3,7, 11, ,

. What fraction is shaded if 2 out of 4 parts are coloured?
.10+ 13 =

.23+16 =

.19+29 =

.80+10=

5x3=

10. Which is heavier: 618 g or 1 kg?



10-Minute Mental Maths Drill - Day 72

1.18 +30 =

2.13+20=

3.5x2=

4. How many hundreds in 1347

5.24 +6 =

6. How many 10p coins do you need to make £3.007?
7.32-13=

8.26 +18 =

9.42-13=

10.30 +10 =

10-Minute Mental Maths Drill - Day 73

1. Which is heavier: 846 g or 1 kg?
2.6x4=

3. How many minutes in 2 hours?

4. Continue the pattern: 6, 20,23, ,
5. How many hundreds in 1837?

6.54-24 =

7. Continue the pattern: 4, 16,27, ,
8.4x3=

9.18+3 =

10. How many hundreds in 1767



10-Minute Mental Maths Drill - Day 74

1. How much change from £5 if you spend £2.357?
2.37-12=

3.26 +10 =

4.10+5=

5.10+10=

8. Continue the pattern: 7, 10,30, ,
9. Continue the pattern: 9, 13,25,  ,

10.20+2 =

10-Minute Mental Maths Drill - Day 75

1. Which is heavier: 867 g or 1 kg?
2.6+2=

3. What time is 39 minutes after 11:007?
4.2x3=

5.45+9 =

6.19+9=

7. How many hundreds in 1067?
8.5x2=

9.34-6=

10. How much change from £5 if you spend £3.857?

Week 16: Days 76-80



10-Minute Mental Maths Drill - Day 76

1.47-30 =

2. Continue the pattern: 7, 20,28, ,

3. How many days in 7 weeks?

4.23+29 =

5. Round 161 to the nearest 100

6. Countin8s:1,9,17, ,

7.64 8=

8. What fraction is shaded if 2 out of 4 parts are coloured?
9.10x5=

10.23 +25 =

10-Minute Mental Maths Drill - Day 77

4. How many days in 3 weeks?
5,12+ 3=

6.49+7 =

7.6%x4=

8.40-16 =



10-Minute Mental Maths Drill - Day 78

1.20+10 =

2.24+18 =

3.32-13=

4.9%x6=

5. How many 10p coins do you need to make £3.107?

6. Continue the pattern: 10, 12,22, |,

7.30+16 =

8. What fraction is shaded if 1 out of 4 parts are coloured?
9. Round 144 to the nearest 100

10. How many 10p coins do you need to make £3.607?

10-Minute Mental Maths Drill - Day 79

1.18-10=

2.13+13 =

3.18-12=
4.Countin9s:8,17,26, ,
5.4x2=

6.12+19=

7.7x4=

8. Which is longer: 73 cm or 1 m?
9.30-17 =

10.48 +6 =



10-Minute Mental Maths Drill - Day 80

.10+ 5=

. How many days in 8 weeks?

.2%x4=

.8x2=

. How many 10p coins do you need to make £1.107?
.7+8=

.29-24 =

. How many tens in 417

17 +30 =

10.19-8=

I

Week 17: Days 81-85

10-Minute Mental Maths Drill - Day 81

.49-19=

. How many tens in 1217

.90+10=

. What fraction is shaded if 1 out of 2 parts are coloured?
4 x4 =

. How much change from £5 if you spend £4.257
.3%x3=

.56 +7=

24 + 14 =

10.5x2=



10-Minute Mental Maths Drill - Day 82

1.24+21=

2. How many 10p coins do you need to make £2.707?
3. How many hundreds in 1987

4,24 +3 =

5.28-6=

6.9x4=

7.44 -14 =

8.42-15=

9.24+6 =

10. Continue the pattern: 5, 16,26, ,

10-Minute Mental Maths Drill - Day 83

1. Countin 10s: 8, 18,28, ,
2.34-26=

3. Which is heavier: 189 g or 1 kg?

4.4 x4=

5. Continue the pattern: 2, 11,21, ,
6.42-15=

7. How many hundreds in 1717?

8.14+7 =

9.16 +8 =

10. Countin 3s:4,7,10, __ ,



10-Minute Mental Maths Drill - Day 84

.30+5=

. Round 91 to the nearest 10

.32+4=

. How much change from £5 if you spend £4.257?
. How much change from £5 if you spend £3.75?
A7 +9=

.24 +18 =

.7+10=

. Continue the pattern: 4, 17,22, |,

10.8x2 =

9.

10-Minute Mental Maths Drill - Day 85

.12+ 3=

. What fraction is shaded if 1 out of 2 parts are coloured?
.20+ 5=

.24 +23 =

.Countin®6s:5, 11,17, ,

. How many days in 6 weeks?

.18+ 3=

.33-7=

40+ 10 =

10.12+6 =

Week 18: Days 86-90



10-Minute Mental Maths Drill - Day 86

.27 +9=

.38-14 =

.20-10=

.24 +6=

L27T+6 =

. What fraction is shaded if 1 out of 4 parts are coloured?
. How many hundreds in 1307?

. How many 10p coins do you need to make £3.207?

.33-15=

10.5+14 =

9.

10-Minute Mental Maths Drill - Day 87

.Countin 8s: 14,22,30,  ,

.20+ 8=

. How many 10p coins do you need to make £1.307?
.10%x 2=

.31-24=

.5x3=

.8+2=

.15 +24 =

Which is longer: 81 cm or 1 m?

10.9x2 =



10-Minute Mental Maths Drill - Day 88

1.8x3=

2. Continue the pattern: 10, 20, 27, ,

3.19+22 =

4.36 +9=

5. What fraction is shaded if 1 out of 2 parts are coloured?
6.41-23=

7.9+9=

8.90+9=

9.35-6=

10.20-7 =

10-Minute Mental Maths Drill - Day 89

1. How many 10p coins do you need to make £3.407?
2.47-29=

3.18 +28 =

4.63+7=

5.34-8=

6. How many minutes in 3 hours?

7.2+2=

8.23+15=

9. Countin 10s: 5,15,25,  ,

10. How many hundreds in 1707?



10-Minute Mental Maths Drill - Day 90

1. How much change from £5 if you spend £2.057?

2. Round 170 to the nearest 100

5. How much change from £5 if you spend £4.457?
6.20+9=

7.10%x 3=

8. Round 108 to the nearest 100

9. Which is heavier: 566 g or 1 kg?

10. How much change from £5 if you spend £4.957?



Term 2 Answer Keys (Days 46-90)

Day 46 Answers:

1.72 +9 = Answer: 8

2.28 + 7 = Answer: 4

3.4 x 5= Answer: 20

4.25-13 = Answer: 12

5.16 + 12 = Answer: 28

6. How many tens in 120? Answer: Varies

7. Round 83 to the nearest 100 Answer: Varies
8.29 - 6 = Answer: 23

9.22 + 10 = Answer: 32

10. 42 + 6 = Answer: 7
Day 47 Answers:

1.18 - 12 = Answer: 6

2.9+ 17 = Answer: 26

3. How many days in 6 weeks? Answer: Varies
4.15+ 3 = Answer: 5

5.21 + 21 = Answer: 42

6.17 - 11 = Answer: 6

7.16 + 19 = Answer: 35

8. 16 + 13 = Answer: 29

9. How many tens in 154? Answer: Varies

10. 30 + 5 = Answer: 6
Day 48 Answers:

1.20 + 4 = Answer: 5
2.28 +4 = Answer: 7
3.8 x4 = Answer: 32

4.22 -7 = Answer: 15



5.
6.
7.
8.

9.

20 + 10 = Answer: 2
Continue the pattern: 7, 19,26, ,  Answer: Varies
21 +7 = Answer: 3

9 + 14 = Answer: 23

What fraction is shaded if 1 out of 2 parts are coloured? Answer: 1/2

10. 9 x 5 = Answer: 45

Day 49 Answers:
.8 +5=Answer: 13
.48 + 6 = Answer: 8
. Continue the pattern: 4, 14,21, ., Answer: Varies

.14 + 17 = Answer: 31

.6 x 3 =Answer: 18

.6 x5 =Answer: 30

. What fraction is shaded if 1 out of 2 parts are coloured? Answer: 1/2
.33 -25 = Answer: 8

.24 + 8 = Answer: 3

10. Which is heavier: 355 g or 1 kg? Answer: Varies

9.

Day 50 Answers:

.9+ 9=Answer: 1

.4 x5 =Answer: 20

. How much change from £5 if you spend £3.35? Answer: Varies

. How many hundreds in 143? Answer: Varies

.10 x 5 = Answer: 50

. How many 10p coins do you need to make £3.90? Answer: Varies
.50 + 5 = Answer: 10

. Which is heavier: 757 g or 1 kg? Answer: Varies

42 - 16 = Answer: 26

10. How many 10p coins do you need to make £3.707 Answer: Varies

Day 51 Answers:
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.2 x 3 =Answer: 6

.12 + 2 = Answer: 6

.20 + 9 = Answer: 29

. How many 10p coins do you need to make £5.407? Answer: Varies

. What fraction is shaded if 1 out of 2 parts are coloured? Answer: 1/2
.4 x5 =Answer: 20

. What is the value of 1 in 1537 Answer: Varies
.Countin6s:14,20,26, ,  Answer: Varies

.6 x 3 =Answer: 18

10. 39 - 22 = Answer: 17

9.

Day 52 Answers:
.10 + 15 = Answer: 25
.27 + 11 = Answer: 38
. 33 - 25 = Answer: 8
.48 + 6 = Answer: 8
. Continue the pattern: 5, 19,24, ,  Answer: Varies

. How many hundreds in 117? Answer: Varies
.19+ 11 = Answer: 30
.Countin7s:0,7,14, ,  Answer: Varies

How many days in 7 weeks? Answer: Varies

10. 37 - 18 = Answer: 19

Day 53 Answers:

.17 + 10 = Answer: 27

. Round 159 to the nearest 100 Answer: Varies
.60 + 10 = Answer: 6

.8 +4 = Answer: 2

. Round 175 to the nearest 100 Answer: Varies
.37 -9 = Answer: 28

.37 - 18 = Answer: 19

.18 + 2 = Answer: 9



9.27 +9 = Answer: 3

10. Which is longer: 87 cm or 1 m? Answer: Varies

Day 54 Answers:

1.10 x 4 = Answer: 40

2. How many tens in 87?7 Answer: Varies

3. 10 x 4 = Answer: 40

4. What fraction is shaded if 1 out of 4 parts are coloured? Answer: 1/4
5. How many tens in 39? Answer: Varies

6.7 x 5 = Answer: 35

7.18 + 9 = Answer: 2

8. How much change from £5 if you spend £3.35? Answer: Varies
9.27 + 9 = Answer: 3

10. Continue the pattern: 8, 14,22, ,  Answer: Varies

Day 55 Answers:

1. How many hundreds in 1137 Answer: Varies
2.10 x 4 = Answer: 40

3.60 + 10 = Answer: 6

4.Countin9s:7,16,25, ,  Answer: Varies
5.45-17 = Answer: 28

6. Round 144 to the nearest 100 Answer: Varies
7.4 x 2= Answer: 8

8.6 + 3 = Answer: 2

9.35-30 = Answer: 5

10. What fraction is shaded if 1 out of 2 parts are coloured? Answer: 1/2

Day 56 Answers:

1.9 + 18 = Answer: 27
2.43 - 15 = Answer: 28
3.27 + 16 = Answer: 43

4.20 +7 = Answer: 27



5.
6.
7.
8.

9.

29 + 6 = Answer: 35
Continue the pattern: 8, 11,28, |,  Answer: Varies
15 + 5 = Answer: 3

Which is longer: 15 cm or 1 m? Answer: Varies

6 x 3 = Answer: 18

10. 24 + 29 = Answer: 53

Day 57 Answers:

. Continue the pattern: 4, 10,24, .,  Answer: Varies
.29 + 27 = Answer: 56

. 33 - 6 = Answer: 27

. What time is 54 minutes after 3:00? Answer: Varies

.9 x5 =Answer: 45

.60 + 10 = Answer: 6

.12 -7 = Answer: 5

.14 =7 = Answer: 2

.45 + 5 = Answer: 9

10. 14 + 19 = Answer: 33

8.

9.

Day 58 Answers:
. Continue the pattern: 3, 16,20, ,  Answer: Varies
. 33-19 = Answer: 14
. 35-20 = Answer: 15
. Continue the pattern: 2, 14,28, ., Answer: Varies

.48 + 6 = Answer: 8
. How many tens in 1857 Answer: Varies

. Round 44 to the nearest 10 Answer: Varies

How many days in 7 weeks? Answer: Varies

13 + 5 = Answer: 18

10. 5 x 4 = Answer: 20

Day 59 Answers:



.24 -9 = Answer: 15

2. Round 199 to the nearest 100 Answer: Varies

3.20 + 19 = Answer: 39

4. Continue the pattern: 6, 11,24, | Answer: Varies

5.30 + 6 = Answer: 5

6. What time is 40 minutes after 4:007 Answer: Varies

7.Countin4s:2,6,10, _ ,  Answer: Varies

8. 38 - 12 = Answer: 26

9. 23 + 18 = Answer: 41

10. Continue the pattern: 2, 19,29, ,  Answer: Varies
Day 60 Answers:

9.

. How much change from £5 if you spend £2.05? Answer: Varies
.10 + 16 = Answer: 26

.40 - 13 = Answer: 27

. Round 119 to the nearest 100 Answer: Varies

. 33 - 11 = Answer: 22

.23 - 11 = Answer: 12

.37 - 11 = Answer: 26

.10 x 3 = Answer: 30

27 + 23 = Answer: 50

10. 6 x 3 = Answer: 18

—

co N

Day 61 Answers:

.Countin9s:5,14,23, ,  Answer: Varies

.29 + 8 = Answer: 37

.2 x2=Answer: 4

. How much change from £5 if you spend £2.65? Answer: Varies

.10 x 2 = Answer: 20

.5 x 6 = Answer: 30

. What fraction is shaded if 1 out of 2 parts are coloured? Answer: 1/2

. What fraction is shaded if 1 out of 2 parts are coloured? Answer: 1/2



9.6 x 2 =Answer: 12

10. Round 36 to the nearest 10 Answer: Varies
Day 62 Answers:

1. Round 34 to the nearest 10 Answer: Varies
2.31-26 = Answer: 5

3.17 + 11 = Answer: 28

4.24 + 25 = Answer: 49

5.25-6 = Answer: 19

6.9 x 2 = Answer: 18

7.Countin4s:1,5,9, ,  Answer: Varies
8. 24 + 3 = Answer: 8

9.2 x4 = Answer: 8

10. 29 + 19 = Answer: 48

Day 63 Answers:

1. 49 - 25 = Answer: 24

2.36 +4 = Answer: 9

3.8 + 17 = Answer: 25

4. 39 - 12 = Answer: 27

5.5+ 29 = Answer: 34

6. What is the value of 7 in 1697 Answer: Varies

7.9 x 3 = Answer: 27

8. 33 - 22 = Answer: 11

9. What time is 11 minutes after 6:007 Answer: Varies

10. 30 - 21 = Answer: 9

Day 64 Answers:

1. Countin 7s: 20, 27,34, ,  Answer: Varies
2. How many 10p coins do you need to make £5.507 Answer: Varies

3. Round 61 to the nearest 10 Answer: Varies

4.15 + 13 = Answer: 28



5.32 + 4 = Answer: 8
6. 35+ 7 = Answer: 5
7.4 x 3 = Answer: 12
8. 64 + 8 = Answer: 8
9.8 +4 = Answer: 2

10. Which is longer: 16 cm or 1 m? Answer: Varies

Day 65 Answers:

1.9 x 5 = Answer: 45

2.12 + 2 = Answer: 6

3.64 + 8 = Answer: 8

4.2 x 6 =Answer: 12

5.10 x 3 = Answer: 30

6. 72 + 8 = Answer: 9

7.46 - 19 = Answer: 27

8. Countin5s:6,11,16, ,  Answer: Varies

9. What fraction is shaded if 1 out of 4 parts are coloured? Answer: 1/4

10. What is the value of 6 in 1767 Answer: Varies

Day 66 Answers:

1.6 + 30 = Answer: 36

2. Continue the pattern: 5, 13,30, ,  Answer: Varies

3. Which is heavier: 576 g or 1 kg? Answer: Varies

4.15 + 28 = Answer: 43

5.90 + 10 = Answer: 9

6.Countin3s:2,5,8  ,  Answer: Varies

7. How much change from £5 if you spend £4.05? Answer: Varies

8. What fraction is shaded if 3 out of 4 parts are coloured? Answer: 3/4
9. Round 97 to the nearest 10 Answer: Varies

10. Countin 10s: 2,12,22, ,  Answer: Varies

Day 67 Answers:



9

. 7 x 6 =Answer: 42

. Which is longer: 73 cm or 1 m? Answer: Varies

.70 +10 = Answer: 7

. How many days in 5 weeks? Answer: Varies

. Which is heavier: 688 g or 1 kg? Answer: Varies

. Which is longer: 27 cm or 1 m? Answer: Varies

.30 + 22 = Answer: 52

. How much change from £5 if you spend £3.95? Answer: Varies

.8 + 11 = Answer: 19

10. 2 x 5 = Answer: 10

9.

Day 68 Answers:

.6 x4 = Answer: 24

. What time is 13 minutes after 8:00? Answer: Varies

. How many minutes in 2 hours? Answer: Varies

.5 x5 =Answer: 25

. Continue the pattern: 5, 20,30, ,  Answer: Varies
.32 +4 = Answer: 8

.23 + 16 = Answer: 39

. 38 - 8 = Answer: 30

How many tens in 20?7 Answer: Varies

10. Countin 5s: 13, 18,23, ,  Answer: Varies

—

Day 69 Answers:

. How many 10p coins do you need to make £2.60? Answer: Varies
.12 + 22 = Answer: 34

.8 x4 = Answer: 32

. What time is 16 minutes after 10:00? Answer: Varies

.2 x6=Answer: 12

.5+ 26 = Answer: 31

.5 x2=Answer: 10

.22 + 28 = Answer: 50



9.

4 x 4 = Answer: 16

10. How many 10p coins do you need to make £5.10? Answer: Varies

9.

Day 70 Answers:

. How much change from £5 if you spend £1.65? Answer: Varies

.Countin3s:13,16,19, _ ,  Answer: Varies
.48 + 6 = Answer: 8

.Countin5s:12,17,22, ,  Answer: Varies
. How many hundreds in 107? Answer: Varies

. How many 10p coins do you need to make £4.60? Answer: Varies
.16 -9 = Answer: 7

.10 + 17 = Answer: 27

45 - 15 = Answer: 30

10. 27 + 9 = Answer: 36

8.

9.

Day 71 Answers:

. Round 150 to the nearest 100 Answer: Varies

.22 -9 = Answer: 13
.Countin4s:3,7,11, _,  Answer: Varies
. What fraction is shaded if 2 out of 4 parts are coloured? Answer: 2/4

.10 + 13 = Answer: 23
.23 + 16 = Answer: 39

.19 + 29 = Answer: 48

80 + 10 = Answer: 8

5 x 3 = Answer: 15

10. Which is heavier: 618 g or 1 kg? Answer: Varies

1.

2.

3.

4.

Day 72 Answers:

18 + 30 = Answer: 48
13 + 20 = Answer: 33
5 x 2 = Answer: 10

How many hundreds in 134? Answer: Varies



5.24 + 6 = Answer: 4

6. How many 10p coins do you need to make £3.00? Answer: Varies
7.32-13 = Answer: 19

8. 26 + 18 = Answer: 44

9.42 - 13 = Answer: 29

10. 30 + 10 = Answer: 40

Day 73 Answers:

—

. Which is heavier: 846 g or 1 kg? Answer: Varies

2.6 x4 = Answer: 24

w

. How many minutes in 2 hours? Answer: Varies

N

. Continue the pattern: 6, 20,23, ,  Answer: Varies

@)

. How many hundreds in 1837 Answer: Varies

»

.54 - 24 = Answer: 30

~

. Continue the pattern: 4, 16,27, ,  Answer: Varies
8.4 x 3 = Answer: 12
9.18 + 3 = Answer: 6

10. How many hundreds in 1767 Answer: Varies

Day 74 Answers:

1. How much change from £5 if you spend £2.35? Answer: Varies
2.37 -12 = Answer: 25

3. 26 + 10 = Answer: 36

4.10 + 5 = Answer: 2

5.10 + 10 = Answer: 1

6.2 x 6 = Answer: 12

7.4 x 2= Answer: 8

8. Continue the pattern: 7, 10,30, ,  Answer: Varies

9. Continue the pattern: 9, 13,25, ,  Answer: Varies

10. 20 + 2 = Answer: 10

Day 75 Answers:



1. Which is heavier: 867 g or 1 kg? Answer: Varies
2.6 +2=Answer: 3

3. What time is 39 minutes after 11:00? Answer: Varies
4.2 x 3 = Answer: 6

5.45 + 9 = Answer: 5

6. 19 + 9 = Answer: 28

7. How many hundreds in 1067 Answer: Varies

8.5 x 2 = Answer: 10

9.34 - 6 = Answer: 28

10. How much change from £5 if you spend £3.85? Answer: Varies

Day 76 Answers:

1.47 - 30 = Answer: 17

2. Continue the pattern: 7, 20,28, _,  Answer: Varies

3. How many days in 7 weeks? Answer: Varies

4.23 + 29 = Answer: 52

5. Round 161 to the nearest 100 Answer: Varies
6.Countin8s:1,9,17, ,  Answer: Varies

7.64 + 8 = Answer: 8

8. What fraction is shaded if 2 out of 4 parts are coloured? Answer: 2/4
9.10 x 5 = Answer: 50

10. 23 + 25 = Answer: 48

Day 77 Answers:

1.42 +7 = Answer: 6

N

.16 + 20 = Answer: 36

3.6 x 6 = Answer: 36

N

. How many days in 3 weeks? Answer: Varies
5.12 + 3 = Answer: 4
6.49 + 7 = Answer: 7

7.6 x4 = Answer: 24

0o

.40 - 16 = Answer: 24



9.

9 x 3 = Answer: 27

10. 18 - 9 = Answer: 9

9.

Day 78 Answers:

.20 + 10 = Answer: 30

.24 + 18 = Answer: 42

.32 -13 = Answer: 19

.9 x 6 = Answer: 54

. How many 10p coins do you need to make £3.107? Answer: Varies
. Continue the pattern: 10, 12,22, ,  Answer: Varies

.30 + 16 = Answer: 46

. What fraction is shaded if 1 out of 4 parts are coloured? Answer: 1/4

Round 144 to the nearest 100 Answer: Varies

10. How many 10p coins do you need to make £3.60? Answer: Varies

Day 79 Answers:
.18 -10 = Answer: 8
.13 + 13 = Answer: 26
.18 - 12 = Answer: 6
.Countin9s:8,17,26, ,  Answer: Varies

.4 x 2 =Answer: 8

.12 + 19 = Answer: 31

. 7 x4 = Answer: 28

. Which is longer: 73 cm or 1 m? Answer: Varies

.30-17 = Answer: 13

10.48 + 6 = Answer: 8

1.

2.

3.

4.

Day 80 Answers:

10 + 5 = Answer: 2
How many days in 8 weeks? Answer: Varies
2 x 4 = Answer: 8

8 x 2 = Answer: 16



5. How many 10p coins do you need to make £1.10? Answer: Varies
6.7 + 8 = Answer: 15

7.29 - 24 = Answer: 5

8. How many tens in 41? Answer: Varies

9.17 + 30 = Answer: 47

10. 19 - 8 = Answer: 11

Day 81 Answers:

1.49 - 19 = Answer: 30

2. How many tens in 121? Answer: Varies

3.90 + 10 = Answer: 9

4. What fraction is shaded if 1 out of 2 parts are coloured? Answer: 1/2
5.4 x 4 = Answer: 16

6. How much change from £5 if you spend £4.25? Answer: Varies

7.3 x 3 = Answer: 9

8.56 + 7 = Answer: 8

9.24 + 14 = Answer: 38

10. 5 x 2 = Answer: 10

Day 82 Answers:

1.24 + 21 = Answer: 45

2. How many 10p coins do you need to make £2.707 Answer: Varies
3. How many hundreds in 1987 Answer: Varies

4.24 + 3 = Answer: 8

5. 28 - 6 = Answer: 22

6.9 x 4 = Answer: 36

7.44 - 14 = Answer: 30

8.42 - 15 = Answer: 27

9.24 + 6 = Answer: 4

10. Continue the pattern: 5, 16,26, ,  Answer: Varies

Day 83 Answers:



.Countin10s:8,18,28, ,  Answer: Varies

2.34 - 26 = Answer: 8
3. Which is heavier: 189 g or 1 kg? Answer: Varies
4.4 x4 = Answer: 16
5. Continue the pattern: 2, 11,21, ,  Answer: Varies
6.42 - 15 = Answer: 27
7. How many hundreds in 171? Answer: Varies
8. 14 + 7 = Answer: 2
9.16 + 8 = Answer: 2
10. Countin 3s:4,7,10, __,  Answer: Varies
Day 84 Answers:

9.

.30 + 5 = Answer: 6

. Round 91 to the nearest 10 Answer: Varies

.32 +4 = Answer: 8

. How much change from £5 if you spend £4.25? Answer: Varies
. How much change from £5 if you spend £3.75? Answer: Varies
.17 + 9 = Answer: 26

.24 + 18 = Answer: 42

.7+ 10 = Answer: 17

Continue the pattern: 4, 17,22, ., Answer: Varies

10. 8 x 2 = Answer: 16

Day 85 Answers:

.12 + 3 = Answer: 4

. What fraction is shaded if 1 out of 2 parts are coloured? Answer: 1/2
.20 + 5= Answer: 4

.24 + 23 = Answer: 47

.Countin6s:5,11,17, _ ,  Answer: Varies

. How many days in 6 weeks? Answer: Varies

.18 + 3 = Answer: 6

.33 -7 = Answer: 26



9.40 + 10 = Answer: 4

10. 12 + 6 = Answer: 2

Day 86 Answers:

1.27 + 9 = Answer: 3

2.38 - 14 = Answer: 24

3.20-10 = Answer: 10

4.24 + 6 = Answer: 4

5. 27 + 6 = Answer: 33

6. What fraction is shaded if 1 out of 4 parts are coloured? Answer: 1/4
7. How many hundreds in 1307 Answer: Varies

8. How many 10p coins do you need to make £3.207 Answer: Varies
9.33-15 = Answer: 18

10. 5+ 14 = Answer: 19

Day 87 Answers:

1. Countin 8s: 14,22,30, _,  Answer: Varies

2.20 + 8 = Answer: 28

3. How many 10p coins do you need to make £1.307 Answer: Varies
4.10 x 2 = Answer: 20

5.31-24 = Answer: 7

6.5 x 3 = Answer: 15

7.8 +2 = Answer: 4

8. 15 + 24 = Answer: 39

9. Which is longer: 81 cm or 1 m? Answer: Varies

10. 9 x 2 = Answer: 18

Day 88 Answers:

1.8 x 3 = Answer: 24
2. Continue the pattern: 10, 20,27, __,  Answer: Varies
3. 19 + 22 = Answer: 41

4.36 +9 = Answer: 4



5. What fraction is shaded if 1 out of 2 parts are coloured? Answer: 1/2
6.41 - 23 = Answer: 18

7.9 +9 = Answer: 1

8.90 + 9 = Answer: 10

9.35-6 = Answer: 29

10. 20 - 7 = Answer: 13

Day 89 Answers:

1. How many 10p coins do you need to make £3.407 Answer: Varies
2.47 - 29 = Answer: 18

3. 18 + 28 = Answer: 46

4.63 + 7 = Answer: 9

5. 34 - 8 = Answer: 26

6. How many minutes in 3 hours? Answer: Varies

7.2+ 2= Answer: 1

8. 23 + 15 = Answer: 38

9. Countin 10s: 5,15,25, ,  Answer: Varies

10. How many hundreds in 1707 Answer: Varies

Day 90 Answers:

1. How much change from £5 if you spend £2.05? Answer: Varies
2. Round 170 to the nearest 100 Answer: Varies

3.6 x 6 = Answer: 36

4.5 x 6 = Answer: 30

5. How much change from £5 if you spend £4.45? Answer: Varies
6. 20 + 9 = Answer: 29

7.10 x 3 = Answer: 30

8. Round 108 to the nearest 100 Answer: Varies

9. Which is heavier: 566 g or 1 kg? Answer: Varies

10. How much change from £5 if you spend £4.95? Answer: Varies



Term 3: Days 91-135

Weeks 19-27

8.

2.

Week 19: Days 91-95

10-Minute Mental Maths Drill - Day 91

.32+49=

. 176 - 126 =

. What fraction is shaded if 2 out of 4 parts are coloured?
.94 +102 =

.3x4=

.Countin2s:1,3,5, _ ,

. How many 10p coins do you need to make £5.207?

7x12=

How many hundreds in 2447

10. How many hundreds in 4777

10-Minute Mental Maths Drill - Day 92

. How much change from £5 if you spend £4.757?
.48 +4 =

. How many days in 8 weeks?

. What time is 10 minutes after 5:00?

.11 x8=

.12 x6=

. How much change from £5 if you spend £2.65?
.24 +12 =

. How many minutes in 2 hours?

10.83 +43 =



10-Minute Mental Maths Drill - Day 93

.54 +136 =

. 149 + 107 =

. How many days in 3 weeks?

. How many minutes in 2 hours?

. How many days in 4 weeks?

. What time is 15 minutes after 1:00?
.10 %10 =

. How many grams in 3 kilograms?

. What is 1/8 of 167

10.28 =7 =

8.

9.

10-Minute Mental Maths Drill - Day 94

. Continue the pattern: 6, 12,21, |,
.9%x8=

. How many hundreds in 1507

.171-66 =

. How many centimetres in 5 metres?
.6%x6=

. How much change from £5 if you spend £3.357?

167 - 123 =

Round 132 to the nearest 10

10. Countin 2s: 12, 14,16, ,



10-Minute Mental Maths Drill - Day 95

.53 +74 =

.126 - 61 =

. Continue the pattern: 3, 20,23, ,

. What fraction is shaded if 1 out of 2 parts are coloured?
.51+65=

. What is the value of 4 in 1477

.64 + 55 =

.5x9=

. How many grams in 2 kilograms?

10. Continue the pattern: 3, 15,21, ,

I

Week 20: Days 96-100

10-Minute Mental Maths Drill - Day 96

. How much change from £5 if you spend £2.65?
.70+ 96 =

. What time is 10 minutes after 3:00?

.116-50 =

.6x4=

12+4 =

.201-84 =

. How many grams in 5 kilograms?

24 +2=

10.23 + 100 =



10-Minute Mental Maths Drill - Day 97

1. How many hundreds in 2627

2. Continue the pattern: 4, 20,22, ,
3.12+4 =

4.133-61=

5.142 + 81 =

6.72+8=

7.66 +6 =

8. Countin 8s:12,20,28, _ ,

9.97 + 144 =

10.95 + 97 =

10-Minute Mental Maths Drill - Day 98

1. How many hundreds in 3187

2. How much change from £5 if you spend £4.057?

3. How many 10p coins do you need to make £5.507?
4.86 +45=

5.6 +3=

6.189-41=

7.33+27=

8.6x9=

9.32+77=

10. What is 1/5 of 5?



10-Minute Mental Maths Drill - Day 99

1.216 - 119 =

2.152-80 =

3. How many centimetres in 2 metres?

4.8x3=

5.4x5=

6.101-58 =

7. How many 10p coins do you need to make £4.907?
8. What is the value of 3 in 4207

9. How many 10p coins do you need to make £5.907?

10. What is 1/8 of 247

10-Minute Mental Maths Drill - Day 100

1.24 +3 =

2. How much change from £5 if you spend £3.957?

3. How many hundreds in 4437

4.27+3 =

5. How many minutes in 2 hours?

6. What fraction is shaded if 2 out of 8 parts are coloured?
7. Round 50 to the nearest 10

8. How many centimetres in 1 metre?

9.12+12=

10. 110+ 11 =

Week 21: Days 101-105



10-Minute Mental Maths Drill - Day 101

1. What is the value of 2 in 3087

2. What fraction is shaded if 1 out of 2 parts are coloured?
3.40+10 =

4. What is 1/3 of 3?

5.148 + 96 =

6. How many minutes in 3 hours?

7. What is 1/8 of 40?

8. How many grams in 1 kilogram?

9.79+137 =

10. How many minutes in 4 hours?

10-Minute Mental Maths Drill - Day 102

1.Countin9s:7,16,25, ,

2. How many minutes in 1 hours?

3. What time is 16 minutes after 11:007?

4. How much change from £5 if you spend £2.457?

5. How many centimetres in 1 metre?

6. Round 142 to the nearest 10

7. How many minutes in 2 hours?

8. How many 10p coins do you need to make £3.307?
9.114-94 =

10.125-87 =



10-Minute Mental Maths Drill - Day 103

1.156+3=

2. What is the value of 6 in 4657
3.166 - 89 =

4.205-141 =

5.9x8=

6.162 - 68 =

7.108 + 77 =

8. Round 126 to the nearest 100
9.4x6=

10. What is the value of 5 in 2577

10-Minute Mental Maths Drill - Day 104

—

. 144 - 109 =
2.92+58 =
3.6x5=
4.6x5=

5.24+6 =

»

.Countin10s:13,23,33,  ,
7.9x8=

8. How many centimetres in 5 metres?
9.238-147 =

10. How many days in 4 weeks?



10-Minute Mental Maths Drill - Day 105

.Countinbs:7,12,17, _,

. What time is 20 minutes after 1:00?

. How many days in 8 weeks?

. How much change from £5 if you spend £4.657?
.37 +22=

.35+5=

. What time is 43 minutes after 7:00?

.207 - 104 =

. What is 1/2 of 107

10. How much change from £5 if you spend £4.857?

I

Week 22: Days 106-110

10-Minute Mental Maths Drill - Day 106

. 121 +60 =

. How many 10p coins do you need to make £2.107?

. How many centimetres in 1 metre?

. What fraction is shaded if 1 out of 3 parts are coloured?
. Round 129 to the nearest 10

. How many days in 3 weeks?

. How much change from £5 if you spend £2.257?

21+ 112 =

How many 10p coins do you need to make £5.307?

10.10x 8 =



10-Minute Mental Maths Drill - Day 107

1.156+5=

2.5x4=

3.121 +11 =

4. What is 1/5 of 20?

5.88+11 =

6.36+3=
7.Countin8s:5,13,21,  ,
8.10x4 =

9.3x12=

10. How many days in 6 weeks?

10-Minute Mental Maths Drill - Day 108

1. How many 10p coins do you need to make £3.807?
2.8x12=

3.114 + 131 =

4. Round 150 to the nearest 100

5. Continue the pattern: 8, 17,25, ,

6. What is the value of 7 in 1417

7. How many centimetres in 1 metre?

8.48 +12 =

9.20+70=

10.4 x 10 =



10-Minute Mental Maths Drill - Day 109

1.50+5=

2.4x7 =

3.224-86 =

4. How much change from £5 if you spend £2.657?

5. Continue the pattern: 5, 12,27, ,

6.12+=3 =

7. What fraction is shaded if 5 out of 8 parts are coloured?
8. How many days in 5 weeks?

9.72+8=

10.3x3 =

10-Minute Mental Maths Drill - Day 110

1. How many grams in 1 kilogram?
2.52-26=

3. Round 186 to the nearest 100
4.41+136 =

5.56 + 8 =

6.11x2=

7.5%x2=

8.11+11=

9.104 + 88 =

10.200-78 =

Week 23: Days 111-115



10-Minute Mental Maths Drill - Day 111

1. How many 10p coins do you need to make £2.907?
2. Round 396 to the nearest 100

3. How many tens in 2007?

4.6x%x2=

5.183-129 =

6.5%x12=

7. What is 1/5 of 57

8.56 + 8 =

9.130-72=

10.88 + 8 =

10-Minute Mental Maths Drill - Day 112

1.155-72 =

2.156+5=

3.4x8=

4. How many minutes in 1 hours?

5. What time is 40 minutes after 11:007?
6. How many tens in 567

7.14 =7 =

8. Round 109 to the nearest 10
9.2x10=

10.88 +8 =



10-Minute Mental Maths Drill - Day 113

. 144 +70 =

. What fraction is shaded if 3 out of 5 parts are coloured?
.10x 5=

.8 x11=

. How many days in 4 weeks?

.27+ 3=

.281-148 =

. How many 10p coins do you need to make £2.907?

. How many 10p coins do you need to make £5.607?

10. What is 1/2 of 27

9.

10-Minute Mental Maths Drill - Day 114

. What time is 49 minutes after 9:007?

.10+2=
.5x6=
.42+ 73 =
. How much change from £5 if you spend £4.357?
. How many centimetres in 1 metre?
. What is the value of 5 in 3857
.75 +47 =
How many 10p coins do you need to make £5.907?

10.225-110 =



10-Minute Mental Maths Drill - Day 115

. What is 1/5 of 207

.66 +11 =

. What is 1/3 of 157

.133-113 =

. Round 444 to the nearest 100
. What is the value of 8 in 2987
. Round 110 to the nearest 10
.M x6=

. How many days in 7 weeks?

10. Round 334 to the nearest 100

I

Week 24: Days 116-120

10-Minute Mental Maths Drill - Day 116

. What is 1/8 of 16?

. What time is 17 minutes after 11:00?

L9xT7 =

.75-41=

.59+70=

. What is 1/2 of 6?

. How many 10p coins do you need to make £4.207?

X7 =

How many grams in 4 kilograms?

10.3x8 =



10-Minute Mental Maths Drill - Day 117

.8%x10 =

. 267 - 127 =

. How much change from £5 if you spend £3.957?

. What time is 16 minutes after 1:00?

. Round 130 to the nearest 10

144 +12 =

. How many 10p coins do you need to make £5.107?

.223-139 =

.10+5=

10. What time is 50 minutes after 8:007?

9.

10-Minute Mental Maths Drill - Day 118

. How many days in 4 weeks?

. How many centimetres in 5 metres?

.10x5=

1M x9=

.39+73=

. 114 + 98 =

. How many 10p coins do you need to make £2.807?

.72 +106 =

5x9=

10.66 + 11 =



10-Minute Mental Maths Drill - Day 119

.128-20 =

.80+10=

. How many minutes in 5 hours?

. Continue the pattern: 2, 19,26, ,
.27+ 3=

107 + 77 =

I x2=

B6x7=

. 128 + 105 =

10. Countin 3s:3,6,9,  ,

9.

10-Minute Mental Maths Drill - Day 120

. How many days in 4 weeks?

. How much change from £5 if you spend £4.15?
.108 +12 =

.63+9=

. How many grams in 5 kilograms?

. How many 10p coins do you need to make £3.507?
.219-103 =

. How much change from £5 if you spend £2.05?

115+ 23 =

10. 115 + 146 =

Week 25: Days 121-125



10-Minute Mental Maths Drill - Day 121

1.5%x3=

2.60+5=

3. How many grams in 5 kilograms?
4. What is 1/3 of 12?

5.140 + 28 =

6. How many minutes in 3 hours?
7. What is 1/3 of 3?

8.48 +12 =

9. How many tens in 4827

10.33 +83 =

10-Minute Mental Maths Drill - Day 122

1.60 =12 =

2. What is 1/8 of 327

3.88+50=

4,188 -81=

5. How many grams in 1 kilogram?
6.2x3=

7.146 - 126 =

8.95+69 =

9. How many days in 2 weeks?

10.5x8 =



10-Minute Mental Maths Drill - Day 123

. How many 10p coins do you need to make £4.107?
.271-150 =

. What time is 41 minutes after 8:00?

.223 - 144 =

.6x3=

.9%x4=

. 133 +61 =

. How much change from £5 if you spend £3.157?

. How much change from £5 if you spend £1.157?

10. What is the value of 1 in 3087

9.

10-Minute Mental Maths Drill - Day 124

.8x4=

.126 -51 =

.90+10=

. What time is 40 minutes after 2:00?
.5x8=

.90+9=

.44 + 137 =

. What is the value of 4 in 4027

How many 10p coins do you need to make £3.707?

10. 154 - 76 =



10-Minute Mental Maths Drill - Day 125

1. What time is 31 minutes after 7:00?

2.91-67=

3. How many centimetres in 3 metres?

4. How many grams in 3 kilograms?

5.129-76 =

6. What fraction is shaded if 1 out of 4 parts are coloured?
7.Countin4s: 15,19,23, ,

8. What time is 14 minutes after 5:007?

9. What is 1/5 of 10?

10. What fraction is shaded if 1 out of 2 parts are coloured?

Week 26: Days 126-130

10-Minute Mental Maths Drill - Day 126

1.175-78 =

2. How many tens in 3497

3. What is 1/4 of 12?

4.47 +79 =

5. Round 91 to the nearest 10
6.11x2=

7. How many hundreds in 2957
8.132-108 =

9.6x2=

10. What is 1/4 of 8?



10-Minute Mental Maths Drill - Day 127

1.28+7 =

2. How many centimetres in 5 metres?

3. What fraction is shaded if 6 out of 8 parts are coloured?
4.168 - 117 =

5.256 - 126 =

6. 125 + 147 =

7. How many days in 7 weeks?

8.55+62=

9. What fraction is shaded if 2 out of 8 parts are coloured?

10. What fraction is shaded if 1 out of 3 parts are coloured?

10-Minute Mental Maths Drill - Day 128

1.121+ 11 =

2.140-51=

3.146-32 =

4.8x%x2=

5.139 + 64 =

6.11x2=

7.49+7 =

8. How many minutes in 5 hours?
9.48 +6 =

10. What fraction is shaded if 4 out of 8 parts are coloured?



10-Minute Mental Maths Drill - Day 129

. Round 218 to the nearest 100

.175-26 =

. What time is 11 minutes after 7:00?

.15+3=

.270-128 =

. How much change from £5 if you spend £1.95?
. What is the value of 4 in 4537

137 + 116 =

. Continue the pattern: 7, 19,21, |,

10.33+3 =

9.

.3x 1

21 =7

10-Minute Mental Maths Drill - Day 130

. How many grams in 5 kilograms?

. How many days in 4 weeks?

. 125+ 104 =

. What fraction is shaded if 1 out of 4 parts are coloured?
.72+8=

.2x12=

How many minutes in 2 hours?

10. 67 + 127 =

Week 27: Days 131-135



10-Minute Mental Maths Drill - Day 131

A x11=

. How many grams in 5 kilograms?
.60+5=

. 136 + 51 =

.3x7=

M x2=

. What is 1/5 of 157
. Round 238 to the nearest 100

.103-73 =

10.9+9=

8.

9.

10-Minute Mental Maths Drill - Day 132

. What is the value of 8 in 4467

. How many 10p coins do you need to make £3.007?
42 +7 =

. How many grams in 1 kilogram?

. How many minutes in 1 hours?

. How many centimetres in 3 metres?

.133+40 =

What time is 12 minutes after 10:007?

43 +23 =

10. What is the value of 3 in 3267



10-Minute Mental Maths Drill - Day 133

.203-98 =

.64-36=

. How many 10p coins do you need to make £2.807?
. What is 1/4 of 207?

.121+138 =

.246 - 142 =

. How many centimetres in 3 metres?

.232-149 =

12 x 11 =

10. 120 + 104 =

8.

9.

10-Minute Mental Maths Drill - Day 134

.72-25=

. How many 10p coins do you need to make £3.007?
.42+ 30 =

.206 - 96 =

12+6=

. How many tens in 3817

.107 - 80 =

Round 311 to the nearest 100

29+ 35 =

10. What is the value of 1 in 4057



10-Minute Mental Maths Drill - Day 135

1. How much change from £5 if you spend £3.857?
2.64+8=

3. How many grams in 1 kilogram?

4. Round 132 to the nearest 10

5.83+47 =

6.4x10 =

7. How many 10p coins do you need to make £2.707?
8. Continue the pattern: 10, 18,28, ,

9. What is 1/8 of 32?

10. What fraction is shaded if 1 out of 5 parts are coloured?



Term 3 Answer Keys (Days 91-135)

Day 91 Answers:

1. 32 + 49 = Answer: 81

2.176 - 126 = Answer: 50

3. What fraction is shaded if 2 out of 4 parts are coloured? Answer: 2/4
4.94 + 102 = Answer: 196

5.3 x4 = Answer: 12

6. Countin2s:1,3,5 __ ,  Answer: Varies

7. How many 10p coins do you need to make £5.20? Answer: Varies
8.7 x 12 = Answer: 84

9. How many hundreds in 2447 Answer: Varies

10. How many hundreds in 4777 Answer: Varies
Day 92 Answers:

1. How much change from £5 if you spend £4.75?7 Answer: Varies
2.48 + 4 = Answer: 12

3. How many days in 8 weeks? Answer: Varies

4. What time is 10 minutes after 5:00? Answer: Varies

5. 11 x 8 = Answer: 88

6. 12 x 6 = Answer: 72

7. How much change from £5 if you spend £2.657 Answer: Varies
8. 24 + 12 = Answer: 2

9. How many minutes in 2 hours? Answer: Varies

10. 83 + 43 = Answer: 126
Day 93 Answers:

1.54 + 136 = Answer: 190
2. 149 + 107 = Answer: 256
3. How many days in 3 weeks? Answer: Varies

4. How many minutes in 2 hours? Answer: Varies



5. How many days in 4 weeks? Answer: Varies

6. What time is 15 minutes after 1:00? Answer: Varies

7.10 x 10 = Answer: 100

8. How many grams in 3 kilograms? Answer: Varies

9. Whatis 1/8 of 16? Answer: 3/8

10. 28 + 7 = Answer: 4

Day 94 Answers:

. Continue the pattern: 6, 12,21, ,  Answer: Varies
.9 x8=Answer: 72

. How many hundreds in 1507 Answer: Varies

. 171 - 66 = Answer: 105

. How many centimetres in 5 metres? Answer: Varies

.6 x 6 = Answer: 36

. How much change from £5 if you spend £3.35? Answer: Varies

8. 167 - 123 = Answer: 44
9. Round 132 to the nearest 10 Answer: Varies
10. Countin 2s:12,14,16, __,  Answer: Varies
Day 95 Answers:

9.

.53 + 74 = Answer: 127

. 126 - 61 = Answer: 65

. Continue the pattern: 3, 20,23, ,  Answer: Varies

. What fraction is shaded if 1 out of 2 parts are coloured? Answer: 1/2
.51 + 65 = Answer: 116

. What is the value of 4 in 147? Answer: Varies

. 64 + 55 = Answer: 119

.5 x 9 =Answer: 45

How many grams in 2 kilograms? Answer: Varies

10. Continue the pattern: 3, 15,21, ,  Answer: Varies

Day 96 Answers:



9.

. How much change from £5 if you spend £2.65? Answer: Varies
. 70 + 96 = Answer: 166

. What time is 10 minutes after 3:00? Answer: Varies

. 116 - 50 = Answer: 66

.6 x4 = Answer: 24

.12 + 4 = Answer: 3

. 201 - 84 = Answer: 117

. How many grams in 5 kilograms? Answer: Varies

24 + 2 = Answer: 12

10. 23 + 100 = Answer: 123

9.

Day 97 Answers:

. How many hundreds in 2627 Answer: Varies

. Continue the pattern: 4, 20,22, ,  Answer: Varies
.12 + 4 = Answer: 3

. 133 - 61 = Answer: 72

. 142 + 81 = Answer: 223

.72 + 8 = Answer: 9

.66 + 6 = Answer: 11

.Countin8s:12,20,28, ,  Answer: Varies

97 + 144 = Answer: 241

10. 95 + 97 = Answer: 192

Day 98 Answers:

. How many hundreds in 3187 Answer: Varies

. How much change from £5 if you spend £4.05? Answer: Varies

. How many 10p coins do you need to make £5.50? Answer: Varies
. 86 + 45 = Answer: 131

.6 +3 = Answer: 2

. 189 - 41 = Answer: 148

. 33 + 27 = Answer: 60

.6 x 9 =Answer: 54



9.

32 + 77 = Answer: 109

10. What is 1/5 of 5? Answer: 2/5

9.

Day 99 Answers:

. 216 - 119 = Answer: 97

. 152 - 80 = Answer: 72

. How many centimetres in 2 metres? Answer: Varies

.8 x 3 =Answer: 24

.4 x5 =Answer: 20

. 101 - 58 = Answer: 43

. How many 10p coins do you need to make £4.90? Answer: Varies

. What is the value of 3 in 420? Answer: Varies

How many 10p coins do you need to make £5.90? Answer: Varies

10. What is 1/8 of 247? Answer: 3/8

Day 100 Answers:

.24 + 3 = Answer: 8

. How much change from £5 if you spend £3.95? Answer: Varies

. How many hundreds in 443? Answer: Varies

.27 = 3 = Answer: 9

. How many minutes in 2 hours? Answer: Varies

. What fraction is shaded if 2 out of 8 parts are coloured? Answer: 2/8
. Round 50 to the nearest 10 Answer: Varies

. How many centimetres in 1 metre? Answer: 100 cm

.12 + 12 = Answer: 1

10. 110 + 11 = Answer: 10

1.

2.

3.

4.

Day 101 Answers:

What is the value of 2 in 3087 Answer: Varies
What fraction is shaded if 1 out of 2 parts are coloured? Answer: 1/2
40 + 10 = Answer: 4

What is 1/3 of 3?7 Answer: 2/3



5. 148 + 96 = Answer: 244

6. How many minutes in 3 hours? Answer: Varies

7. What is 1/8 of 40? Answer: 4/8

8. How many grams in 1 kilogram? Answer: 1,000 g
9.79 + 137 = Answer: 216

10. How many minutes in 4 hours? Answer: Varies

Day 102 Answers:

1.Countin9s:7,16,25, ,  Answer: Varies

2. How many minutes in 1 hours? Answer: Varies

3. What time is 16 minutes after 11:00? Answer: Varies

4. How much change from £5 if you spend £2.45? Answer: Varies

5. How many centimetres in 1 metre? Answer: 100 cm

6. Round 142 to the nearest 10 Answer: Varies

7. How many minutes in 2 hours? Answer: Varies

8. How many 10p coins do you need to make £3.307 Answer: Varies
9. 114 - 94 = Answer: 20

10. 125 - 87 = Answer: 38

Day 103 Answers:

1.15 + 3 = Answer: 5

2. What is the value of 6 in 4657 Answer: Varies
3. 166 - 89 = Answer: 77

4.205 - 141 = Answer: 64

5.9 x 8 = Answer: 72

6. 162 - 68 = Answer: 94

7.108 + 77 = Answer: 185

8. Round 126 to the nearest 100 Answer: Varies
9.4 x 6 = Answer: 24

10. What is the value of 5 in 257? Answer: Varies

Day 104 Answers:



»

N
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9

. 144 - 109 = Answer: 35

.92 + 58 = Answer: 150

.6 x5 =Answer: 30

.6 x5 =Answer: 30

.24 + 6 = Answer: 4

.Countin10s:13,23,33, __,  Answer: Varies
.9 x 8 =Answer: 72

. How many centimetres in 5 metres? Answer: Varies

. 238 - 147 = Answer: 91

10. How many days in 4 weeks? Answer: Varies

9.

Day 105 Answers:

.Countinbs:7,12,17, _ ,  Answer: Varies

. What time is 20 minutes after 1:00? Answer: Varies

. How many days in 8 weeks? Answer: Varies

. How much change from £5 if you spend £4.65? Answer: Varies
.37 + 22 = Answer: 59

.35+ 5 =Answer: 7

. What time is 43 minutes after 7:00? Answer: Varies

. 207 - 104 = Answer: 103

What is 1/2 of 10? Answer: 1/2

10. How much change from £5 if you spend £4.857 Answer: Varies

Day 106 Answers:

. 121 + 60 = Answer: 181

. How many 10p coins do you need to make £2.10? Answer: Varies

. How many centimetres in 1 metre? Answer: 100 cm

. What fraction is shaded if 1 out of 3 parts are coloured? Answer: 1/3
. Round 129 to the nearest 10 Answer: Varies

. How many days in 3 weeks? Answer: Varies

. How much change from £5 if you spend £2.257? Answer: Varies

. 121 + 112 = Answer: 233



9. How many 10p coins do you need to make £5.307 Answer: Varies

10. 10 x 8 = Answer: 80

Day 107 Answers:

1.15 + 5= Answer: 3

2.5 x4 = Answer: 20

3.121 + 11 = Answer: 11

4. What is 1/5 of 20? Answer: 2/5

5.88 + 11 = Answer: 8

6. 36 + 3 = Answer: 12

7.Countin8s:5,13,21, ,  Answer: Varies
8. 10 x 4 = Answer: 40

9.3 x 12 = Answer: 36

10. How many days in 6 weeks? Answer: Varies

Day 108 Answers:

1. How many 10p coins do you need to make £3.807? Answer: Varies
2.8 x 12 = Answer: 96

3. 114 + 131 = Answer: 245

4. Round 150 to the nearest 100 Answer: Varies

5. Continue the pattern: 8, 17,25, ,  Answer: Varies

6. What is the value of 7 in 1417 Answer: Varies

7. How many centimetres in 1 metre? Answer: 100 cm

8.48 + 12 = Answer: 4

9.20 + 70 = Answer: 90

10.4 x 10 = Answer: 40

Day 109 Answers:

1.50 + 5 = Answer: 10
2.4 x7=Answer: 28
3.224 - 86 = Answer: 138

4. How much change from £5 if you spend £2.65? Answer: Varies



5. Continue the pattern: 5, 12,27, ,  Answer: Varies

6. 12 + 3 = Answer: 4

7. What fraction is shaded if 5 out of 8 parts are coloured? Answer: 5/8
8. How many days in 5 weeks? Answer: Varies

9.72 + 8 = Answer: 9

10. 3 x 3 = Answer: 9

Day 110 Answers:

1. How many grams in 1 kilogram? Answer: 1,000 g
2.52 - 26 = Answer: 26

3. Round 186 to the nearest 100 Answer: Varies
4.41 + 136 = Answer: 177

5. 56 + 8 = Answer: 7

6. 11 x 2 = Answer: 22

7.5 x 2= Answer: 10

8. 11 + 11 = Answer: 1

9. 104 + 88 = Answer: 192

10. 200 - 78 = Answer: 122

Day 111 Answers:

—

. How many 10p coins do you need to make £2.90? Answer: Varies

N

. Round 396 to the nearest 100 Answer: Varies

w

. How many tens in 2007 Answer: Varies

I

.6 x2=Answer: 12
5.183 -129 = Answer: 54

6.5 x 12 = Answer: 60

~

. Whatis 1/5 of 5? Answer: 1/5
8.56 + 8 = Answer: 7
9.130-72 = Answer: 58

10. 88 + 8 = Answer: 11

Day 112 Answers:



9

. 155 - 72 = Answer: 83

.15+ 5 = Answer: 3

.4 x 8 = Answer: 32

. How many minutes in 1 hours? Answer: Varies

. What time is 40 minutes after 11:00? Answer: Varies
. How many tens in 567 Answer: Varies

.14 =7 = Answer: 2

. Round 109 to the nearest 10 Answer: Varies

.2x10 = Answer: 20

10. 88 + 8 = Answer: 11

9.

Day 113 Answers:

. 144 + 70 = Answer: 214

. What fraction is shaded if 3 out of 5 parts are coloured? Answer: 3/5
.10 x 5 = Answer: 50

.8 x 11 = Answer: 88

. How many days in 4 weeks? Answer: Varies

.27 + 3 = Answer: 9

. 281 - 148 = Answer: 133

. How many 10p coins do you need to make £2.90? Answer: Varies

How many 10p coins do you need to make £5.60? Answer: Varies

10. What is 1/2 of 2? Answer: 1/2

Day 114 Answers:

. What time is 49 minutes after 9:00? Answer: Varies

.10 + 2 = Answer: 5

.5 x 6 =Answer: 30

.42 + 73 = Answer: 115

. How much change from £5 if you spend £4.35? Answer: Varies
. How many centimetres in 1 metre? Answer: 100 cm

. What is the value of 5 in 3857 Answer: Varies

.75+ 47 = Answer: 122



9. How many 10p coins do you need to make £5.90? Answer: Varies

10. 225 - 110 = Answer: 115
Day 115 Answers:

1. What is 1/5 of 20?7 Answer: 1/5

2.66 + 11 = Answer: 6

3. What is 1/3 of 15?7 Answer: 2/3

4.133 - 113 = Answer: 20

5. Round 444 to the nearest 100 Answer: Varies
6. What is the value of 8 in 2987 Answer: Varies
7. Round 110 to the nearest 10 Answer: Varies
8. 11 x 6 = Answer: 66

9. How many days in 7 weeks? Answer: Varies

10. Round 334 to the nearest 100 Answer: Varies

Day 116 Answers:

1. What is 1/8 of 167 Answer: 4/8

2. What time is 17 minutes after 11:007 Answer: Varies

3.9 x 7 = Answer: 63

4.75-41 = Answer: 34

5.59 + 70 = Answer: 129

6. What is 1/2 of 67 Answer: 1/2

7. How many 10p coins do you need to make £4.20? Answer: Varies
8.7 x 7 = Answer: 49

9. How many grams in 4 kilograms? Answer: Varies

10. 3 x 8 = Answer: 24

Day 117 Answers:

1.8 x 10 = Answer: 80
2. 267 - 127 = Answer: 140
3. How much change from £5 if you spend £3.957 Answer: Varies

4. What time is 16 minutes after 1:00? Answer: Varies



5. Round 130 to the nearest 10 Answer: Varies

6. 144 + 12 = Answer: 12

7. How many 10p coins do you need to make £5.10? Answer: Varies
8. 223 - 139 = Answer: 84

9.10 + 5 = Answer: 2

10. What time is 50 minutes after 8:00? Answer: Varies

Day 118 Answers:

1. How many days in 4 weeks? Answer: Varies

2. How many centimetres in 5 metres? Answer: Varies

3. 10 x 5 = Answer: 50

4. 11 x 9 = Answer: 99

5.39 + 73 = Answer: 112

6. 114 + 98 = Answer: 212

7. How many 10p coins do you need to make £2.80? Answer: Varies
8.72 + 106 = Answer: 178

9.5 x 9 = Answer: 45

10. 66 + 11 = Answer: 6

Day 119 Answers:

1.128 - 20 = Answer: 108

2.80 + 10 = Answer: 8

3. How many minutes in 5 hours? Answer: Varies

4. Continue the pattern: 2, 19,26, ,  Answer: Varies
5.27 + 3 = Answer: 9

6. 107 + 77 = Answer: 184

7.7 x2=Answer: 14

8.6 x 7 = Answer: 42

9.128 + 105 = Answer: 233

10. Countin 3s:3,6,9, ,  Answer: Varies

Day 120 Answers:



9.

. How many days in 4 weeks? Answer: Varies

. How much change from £5 if you spend £4.15? Answer: Varies

. 108 + 12 = Answer: 9

.63 + 9 = Answer: 7

. How many grams in 5 kilograms? Answer: Varies

. How many 10p coins do you need to make £3.50? Answer: Varies
.219 - 103 = Answer: 116

. How much change from £5 if you spend £2.05? Answer: Varies

115 + 23 = Answer: 138

10. 115 + 146 = Answer: 261

9.

Day 121 Answers:

.5 x 3 =Answer: 15

.60 + 5 = Answer: 12

. How many grams in 5 kilograms? Answer: Varies
. What is 1/3 of 12?7 Answer: 1/3

. 140 + 28 = Answer: 168

. How many minutes in 3 hours? Answer: Varies

. What is 1/3 of 37 Answer: 1/3

.48 + 12 = Answer: 4

How many tens in 4827 Answer: Varies

10. 33 + 83 = Answer: 116

Day 122 Answers:

.60 + 12 = Answer: 5

. What is 1/8 of 32?7 Answer: 1/8

. 88 + 50 = Answer: 138

. 188 - 81 = Answer: 107

. How many grams in 1 kilogram? Answer: 1,000 g
.2 x 3 =Answer: 6

. 146 - 126 = Answer: 20

.95 + 69 = Answer: 164



9. How many days in 2 weeks? Answer: Varies

10. 5 x 8 = Answer: 40

Day 123 Answers:

1. How many 10p coins do you need to make £4.107 Answer: Varies
2.271-150 = Answer: 121

3. What time is 41 minutes after 8:007 Answer: Varies

4.223 - 144 = Answer: 79

5.6 x 3 = Answer: 18

6.9 x 4 = Answer: 36

7.133 + 61 = Answer: 194

8. How much change from £5 if you spend £3.15? Answer: Varies

9. How much change from £5 if you spend £1.157 Answer: Varies

10. What is the value of 1 in 308? Answer: Varies

Day 124 Answers:

1.8 x 4 = Answer: 32

2.126 - 51 = Answer: 75

3.90 + 10 = Answer: 9

4. What time is 40 minutes after 2:00? Answer: Varies

5.5 x 8 = Answer: 40

6. 90 + 9 = Answer: 10

7.44 + 137 = Answer: 181

8. What is the value of 4 in 402? Answer: Varies

9. How many 10p coins do you need to make £3.70? Answer: Varies

10. 154 - 76 = Answer: 78

Day 125 Answers:

1. What time is 31 minutes after 7:00? Answer: Varies
2.91-67 = Answer: 24
3. How many centimetres in 3 metres? Answer: Varies

4. How many grams in 3 kilograms? Answer: Varies



5.
6.
7.
8.

9.

129 - 76 = Answer: 53

What fraction is shaded if 1 out of 4 parts are coloured? Answer: 1/4
Countin4s:15,19,23, |  Answer: Varies

What time is 14 minutes after 5:00? Answer: Varies

What is 1/5 of 10? Answer: 1/5

10. What fraction is shaded if 1 out of 2 parts are coloured? Answer: 1/2

8.

9.

Day 126 Answers:

. 175 - 78 = Answer: 97

. How many tens in 349? Answer: Varies

. What is 1/4 of 127 Answer: 2/4

.47 + 79 = Answer: 126

. Round 91 to the nearest 10 Answer: Varies
.11 x 2 = Answer: 22

. How many hundreds in 295? Answer: Varies

132 - 108 = Answer: 24

6 x 2 = Answer: 12

10. What is 1/4 of 8? Answer: 1/4

9.

Day 127 Answers:

.28 =7 = Answer: 4

. How many centimetres in 5 metres? Answer: Varies

. What fraction is shaded if 6 out of 8 parts are coloured? Answer: 6/8
. 168 - 117 = Answer: 51

. 256 - 126 = Answer: 130

. 125 + 147 = Answer: 272

. How many days in 7 weeks? Answer: Varies

.55 + 62 = Answer: 117

What fraction is shaded if 2 out of 8 parts are coloured? Answer: 2/8

10. What fraction is shaded if 1 out of 3 parts are coloured? Answer: 1/3

Day 128 Answers:



1.121 + 11 = Answer: 11

2.140 - 51 = Answer: 89

3. 146 - 32 = Answer: 114

4.8 x 2 = Answer: 16

5. 139 + 64 = Answer: 203

6. 11 x 2 = Answer: 22

7.49 +7 = Answer: 7

8. How many minutes in 5 hours? Answer: Varies
9.48 + 6 = Answer: 8

10. What fraction is shaded if 4 out of 8 parts are coloured? Answer: 4/8

Day 129 Answers:

1. Round 218 to the nearest 100 Answer: Varies

2.175 - 26 = Answer: 149

3. What time is 11 minutes after 7:00? Answer: Varies

4.15 + 3 = Answer: 5

5.270 - 128 = Answer: 142

6. How much change from £5 if you spend £1.95? Answer: Varies
7. What is the value of 4 in 4537 Answer: Varies

8. 137 + 116 = Answer: 253

9. Continue the pattern: 7, 19,21, ,  Answer: Varies

10. 33 + 3 = Answer: 11

Day 130 Answers:

—

. How many grams in 5 kilograms? Answer: Varies

N

. How many days in 4 weeks? Answer: Varies

w

. 125 + 104 = Answer: 229

N

. What fraction is shaded if 1 out of 4 parts are coloured? Answer: 1/4
5.72 + 8 = Answer: 9

6.2 x 12 = Answer: 24

7.3 x 11 = Answer: 33

8.21+7 =Answer: 3



9.

How many minutes in 2 hours? Answer: Varies

10. 67 + 127 = Answer: 194

9.

Day 131 Answers:

.4 x 11 = Answer: 44

. How many grams in 5 kilograms? Answer: Varies
.60 +5 = Answer: 12

. 136 + 51 = Answer: 187

.3 x 7 =Answer: 21

. 11 x 2 = Answer: 22

. What is 1/5 of 157 Answer: 4/5

. Round 238 to the nearest 100 Answer: Varies

103 - 73 = Answer: 30

10. 9 + 9 = Answer: 1

Day 132 Answers:

. What is the value of 8 in 4467 Answer: Varies

. How many 10p coins do you need to make £3.00? Answer: Varies
.42 =7 = Answer: 6

. How many grams in 1 kilogram? Answer: 1,000 g

. How many minutes in 1 hours? Answer: Varies

. How many centimetres in 3 metres? Answer: Varies

. 133 + 40 = Answer: 173

. What time is 12 minutes after 10:00? Answer: Varies

.43 + 23 = Answer: 66

10. What is the value of 3 in 326? Answer: Varies

1.

2.

3.

4.

Day 133 Answers:

203 - 98 = Answer: 105
64 - 36 = Answer: 28

How many 10p coins do you need to make £2.80? Answer: Varies

What is 1/4 of 20? Answer: 2/4



5. 121 + 138 = Answer: 259

6. 246 - 142 = Answer: 104

7. How many centimetres in 3 metres? Answer: Varies
8. 232 - 149 = Answer: 83

9.12 x 11 = Answer: 132

10. 120 + 104 = Answer: 224

Day 134 Answers:

1.72 - 25 = Answer: 47

2. How many 10p coins do you need to make £3.00? Answer: Varies
3.42 + 30 = Answer: 72

4. 206 - 96 = Answer: 110

5.12 + 6 = Answer: 2

6. How many tens in 381? Answer: Varies

7.107 - 80 = Answer: 27

8. Round 311 to the nearest 100 Answer: Varies

9. 29 + 35 = Answer: 64

10. What is the value of 1 in 405? Answer: Varies

Day 135 Answers:

1. How much change from £5 if you spend £3.85? Answer: Varies
2.64 + 8 = Answer: 8

3. How many grams in 1 kilogram? Answer: 1,000 g

4. Round 132 to the nearest 10 Answer: Varies

5. 53 + 47 = Answer: 100

6.4 x 10 = Answer: 40

7. How many 10p coins do you need to make £2.70? Answer: Varies
8. Continue the pattern: 10, 18,28, |,  Answer: Varies

9. What is 1/8 of 327 Answer: 1/8

10. What fraction is shaded if 1 out of 5 parts are coloured? Answer: 1/5



Term 4: Days 136-180

Weeks 28-36

Week 28: Days 136-140

10-Minute Mental Maths Drill - Day 136

1. How many grams in 1 kilogram?
2. How many grams in 1 kilogram?
3. What is 3/5 of 10?

4. How many days in 4 weeks?

5. How many minutes in 1 hours?
6.120 +12 =

7.10 x4 =

8.247-132 =

9. Round 442 to the nearest 100

10. What is 2/3 of 9?

10-Minute Mental Maths Drill - Day 137

1. How many tens in 165?

2.12x2=

3.238-62 =

4.88+8=

5. What is 8/10 of 30?

6. What time is 53 minutes after 11:007?
7. How many centimetres in 3 metres?
8.291-158 =

9. Round 152 to the nearest 10

10.48 + 6 =



10-Minute Mental Maths Drill - Day 138

.70+7=

. What is 1/6 of 547

. What time is 31 minutes after 10:007?
.18 +6 =

. How many minutes in 3 hours?
.20+10 =

. What is 2/3 of 337

. How many centimetres in 1 metre?

. What time is 45 minutes after 11:007?

10. 293 - 160 =

8.

9.

10-Minute Mental Maths Drill - Day 139

. Continue the pattern: 3, 18,29, |,
. What is 3/6 of 247

. 173 -88 =

. How many minutes in 1 hours?

. What is 6/8 of 167

. Continue the pattern: 6, 19,20, ,

. What is 9/10 of 807

84 +7=

6x8=

10. How many days in 6 weeks?



10-Minute Mental Maths Drill - Day 140

1. How many grams in 2 kilograms?
2. What is 2/6 of 30?

3.169 + 186 =

4. Round 109 to the nearest 10
5.249 - 148 =

6. How many days in 2 weeks?

7.10x4 =
8.132+11 =
9.50+5=
10.8+4 =
Week 29: Days 141-145
10-Minute Mental Maths Drill - Day 141
1.226 - 134 =

2. What is 4/6 of 18?

3.8x11=

4. What is 3/6 of 487?

5.20+2=

6. Countin6s:7,13,19, ,
7. How many hundreds in 1337
8.4x11=

9.10x10 =

10. How many tens in 6907



10-Minute Mental Maths Drill - Day 142

1. Continue the pattern: 3, 17,26, ,

2. What is 2/5 of 30?

3.Countin7s:15,22,29, ,

4.36+6=

5. What time is 21 minutes after 4:007?

6.40+5=

7.7x7=

8.8x6=

9. How many 10p coins do you need to make £4.307?

10. How many 10p coins do you need to make £3.507?

10-Minute Mental Maths Drill - Day 143

1. How many centimetres in 1 metre?
2.32+8=

3. What is the value of 1 in 2787

4. How many days in 8 weeks?

5. How many grams in 4 kilograms?
6.4 x8=

7. What time is 44 minutes after 11:007?
8. How many tens in 3277

9. How many hundreds in 3877

10. What is 2/3 of 247



10-Minute Mental Maths Drill - Day 144

. What is 9/10 of 70?

. What is 3/8 of 16?

. 126 + 143 =

. What is 5/8 of 247

. How many tens in 6667

. How many grams in 1 kilogram?

. What is 6/10 of 507?

. How many centimetres in 1 metre?

.11 x10 =

10. How many minutes in 5 hours?

9.

10-Minute Mental Maths Drill - Day 145

.90+10 =

. How many 10p coins do you need to make £2.007?
. How many grams in 1 kilogram?

. What is 4/8 of 16?

. What is 1/3 of 187

. How much change from £5 if you spend £2.257?

. What is 5/8 of 407

. Continue the pattern: 4, 20,28, ,

What is 2/5 of 40?

10.50 +10 =

Week 30: Days 146-150



10-Minute Mental Maths Drill - Day 146

. 268 - 104 =

. How much change from £5 if you spend £4.85?
.66 + 11 =

. Round 50 to the nearest 10

. Round 148 to the nearest 10

. Continue the pattern: 3, 16,22, |,
.112-55=

. What is 2/8 of 807

. How much change from £5 if you spend £2.35?

10.36 +6 =

9.

10-Minute Mental Maths Drill - Day 147

. What is 1/5 of 207?

4 x12 =

. How many centimetres in 4 metres?
.48 +12 =

.209-63 =

. What is 4/5 of 10?

. Round 51 to the nearest 10

B x4=

What is 5/10 of 407

10.10 x4 =



10-Minute Mental Maths Drill - Day 148

1. Continue the pattern: 7, 11,30, ,
2.108 +12 =

3. How much change from £5 if you spend £3.457?

4.241-65 =
5.9+3=
6.48 + 12 =

7. How many grams in 1 kilogram?
8.108 + 12 =
9.5x12=

10.10+10 =

10-Minute Mental Maths Drill - Day 149

1.7%x3=
2. How much change from £5 if you spend £4.457?
3.270-144 =

4.4x5=

()]

. What is 3/4 of 407

»

.165 + 116 =
7.3%x9=

8.290-110 =
9.286-99 =

10. How much change from £5 if you spend £4.257?



10-Minute Mental Maths Drill - Day 150

.10%x 2=

.25+5=

. How many grams in 3 kilograms?

. How many minutes in 1 hours?

. What is 1/6 of 247?

.9%x8=

.160 + 176 =

. Continue the pattern: 5, 16,29, ,

. 108 + 167 =

10. What is 2/5 of 407

I

Week 31: Days 151-155

10-Minute Mental Maths Drill - Day 151

. How many minutes in 2 hours?

. How many days in 4 weeks?

. How many grams in 4 kilograms?
.54 +6 =

. What is 3/4 of 327

.179-78 =

. How many days in 3 weeks?

O x 7=

How many 10p coins do you need to make £4.907?

10. How many grams in 1 kilogram?



10-Minute Mental Maths Drill - Day 152

.10+10 =

. How many grams in 1 kilogram?

. How much change from £5 if you spend £4.357?

. 337 -146 =

.66 +11=

. How much change from £5 if you spend £3.557

. How many 10p coins do you need to make £2.607?
. How many days in 7 weeks?

. What is 1/2 of 4?

10. How many grams in 1 kilogram?

8.

9

10-Minute Mental Maths Drill - Day 153

.218-56 =

.231-114 =

. How much change from £5 if you spend £2.357?
. 266 - 130 =

. How many centimetres in 3 metres?

. What is 2/5 of 307?

. How many grams in 1 kilogram?

69 + 139 =

.2%x2=

10. What is 1/2 of 87



—

N

w

10-Minute Mental Maths Drill - Day 154

. How much change from £5 if you spend £3.657?
. What is 1/3 of 6?

. How many days in 3 weeks?

.10x9 =

.7 x5=

. What is 3/8 of 887

I x12=

. How much change from £5 if you spend £1.157?

.9x3=

10. What is 2/3 of 247

9.

10-Minute Mental Maths Drill - Day 155

. How many hundreds in 1217?

. How many hundreds in 5507

. How many centimetres in 1 metre?
. How many tens in 1917

.10+10 =

.58 + 111 =

. How many days in 8 weeks?

. What is 1/3 of 30?

What time is 8 minutes after 8:007?

10.63+7 =

Week 32: Days 156-160



10-Minute Mental Maths Drill - Day 156

. What is 4/8 of 327

. How many days in 7 weeks?
.72+6=

. How many days in 5 weeks?

. How many minutes in 4 hours?
. Round 935 to the nearest 100
. What is the value of 5 in 7787
217 =

AT +T7 =

10. How many grams in 3 kilograms?

8.

9.

10-Minute Mental Maths Drill - Day 157

.40+5=

. How many minutes in 3 hours?
.8x4=

. What is 2/3 of 127

.7 x8=

12+4 =

. What is 1/3 of 367

177 -96 =

11 x9=

10. How many centimetres in 5 metres?



10-Minute Mental Maths Drill - Day 158

1. What is 3/8 of 8?

2.4x10=

3. How much change from £5 if you spend £2.757?

4. How many 10p coins do you need to make £4.707?
5. What is 3/8 of 807

6.3x3=

7. How many minutes in 4 hours?

8. What is 8/10 of 907?

9.10x9=

10. How many hundreds in 6577

10-Minute Mental Maths Drill - Day 159

1.3x6=

2.55+5=

3. How many 10p coins do you need to make £1.507?
4. Continue the pattern: 6, 14,28, |,
5.30+3=

6. Continue the pattern: 5, 17,29, |,
7.3x10=

8.4x5=

9. Continue the pattern: 4, 18,30, ,

10. How many centimetres in 1 metre?



10-Minute Mental Maths Drill - Day 160

.20+ 5=

. 171-81=

. What time is 35 minutes after 9:00?
. How many tens in 4967

. 152 +170 =

. What is 1/6 of 547

. What is 1/6 of 72?

. What is 1/2 of 167

. How many grams in 1 kilogram?

10. What time is 18 minutes after 3:007?

I

Week 33: Days 161-165

10-Minute Mental Maths Drill - Day 161

. Round 136 to the nearest 10

. How many days in 4 weeks?

.9x12=

. How many days in 6 weeks?

. How many 10p coins do you need to make £5.707?
. How many centimetres in 5 metres?

.12+6=

. How many 10p coins do you need to make £2.107?

6x3=

10. Countin 10s: 20, 30,40, ,



10-Minute Mental Maths Drill - Day 162

.60+5=

.96+ 8=

. Continue the pattern: 9, 13,26, ,

. What is 1/2 of 187

. Continue the pattern: 2, 11,25, |,

. How much change from £5 if you spend £2.957?
.70+10 =

. How many 10p coins do you need to make £4.507?

. Round 93 to the nearest 10

10. How many minutes in 3 hours?

8.

9.

10-Minute Mental Maths Drill - Day 163

. How many 10p coins do you need to make £3.307?
.54 +9=

. Round 185 to the nearest 10

. How many centimetres in 5 metres?

. What is 1/2 of 187

.260-178 =

. What is 9/10 of 1107

What is 1/4 of 327

How many centimetres in 1 metre?

10. How many hundreds in 2917



10-Minute Mental Maths Drill - Day 164

1.4%x12 =
2.6x10=
3. How many 10p coins do you need to make £1.107?
4.25+5=
5.372-185 =
6. How many minutes in 3 hours?
7.96 + 164 =
8. Continue the pattern: 2, 20,25,  ,
9.197 + 100 =
10.12 +12 =
10-Minute Mental Maths Drill - Day 165
1.7%x10 =
2. Round 165 to the nearest 10
3.7x12=
4. How much change from £5 if you spend £4.857?

9.

. What is 3/6 of 667
.12+ 3=

.293 - 167 =

. 112 + 188 =

174 + 53 =

10. 66 + 63 =

Week 34: Days 166-170



10-Minute Mental Maths Drill - Day 166

. What is 1/8 of 487

.5x9=

. 164 + 146 =

.249 - 118 =

.304 - 125 =

. How many 10p coins do you need to make £3.007?
. What is 6/10 of 507?

. How many hundreds in 7077

.M x9=

10. What is 1/2 of 187

8.

9.

10-Minute Mental Maths Drill - Day 167

. How much change from £5 if you spend £2.257?
.10x9 =

.60+5=

.48 +12 =

.5x3=

.Countin4s:1,5,9, |,

. Whatis 1/6 of 727

8x9=

How many 10p coins do you need to make £1.507?

10. What is 1/2 of 207



10-Minute Mental Maths Drill - Day 168

. What is 2/4 of 407

.182-101 =

. What is the value of 7 in 2617
. What is 5/6 of 247

. 110 + 184 =

L9%x6=

. What is 4/6 of 547?

.32+4 =

.131-67 =

10. How many days in 6 weeks?

9.

10-Minute Mental Maths Drill - Day 169

.24+ 3=

. How many centimetres in 1 metre?

. How many minutes in 3 hours?

T x4=

.60+5=

. What is 1/4 of 447?

. How much change from £5 if you spend £3.657?

. How many days in 7 weeks?

144 + 192 =

10.5x7 =



10-Minute Mental Maths Drill - Day 170

.27+ 3=
.Countin7s:5,12,19, |,
.51+162 =

.12+ 3=

. Round 108 to the nearest 100

. 138 +132 =

. What is 1/5 of 307

. What is 1/2 of 127

. 149 + 128 =

10. What is 1/10 of 1007

I

Week 35: Days 171-175

10-Minute Mental Maths Drill - Day 171

.67 +96 =

. How much change from £5 if you spend £3.457?

. What is 4/8 of 567?

.16 +2=

. How many 10p coins do you need to make £5.707?
. Round 105 to the nearest 10

.24 +6=

.7 x9=

How much change from £5 if you spend £3.357?

10. How many minutes in 5 hours?



10-Minute Mental Maths Drill - Day 172

1.3x5=

2.256-176 =

3.8x7=

4.148 + 160 =

5. What is 1/2 of 67

6.33+11=

7. How many days in 6 weeks?

8. How many grams in 4 kilograms?
9.18+2=

10.24 +12 =

10-Minute Mental Maths Drill - Day 173

1. How much change from £5 if you spend £2.357?
2. How many grams in 1 kilogram?

3. What time is 48 minutes after 7:007?

4.132+11 =

5.36 +9=

6.8x4=

7.209-70=

8.72+ 189 =

9. How many minutes in 3 hours?

10. How many centimetres in 1 metre?



10-Minute Mental Maths Drill - Day 174

. 187 + 193 =

. What is 3/4 of 247

. 154 + 129 =

.162-70 =

. How many grams in 4 kilograms?
. Round 115 to the nearest 10
.328-128 =

.304 - 148 =

.160 + 154 =

10. Countin 2s:2,4,6, ,

9.

10-Minute Mental Maths Drill - Day 175

. How many minutes in 4 hours?
. How many minutes in 4 hours?
. Round 65 to the nearest 10
.10 x 8 =

114 + 116 =

. Round 646 to the nearest 100
. 152 +76 =

. 195+ 183 =

10x9=

10.6 x6 =

Week 36: Days 176-180



10-Minute Mental Maths Drill - Day 176

.25+5=

. What time is 8 minutes after 1:00?
.Countin 3s:19,22,25, ,
.152 +51 =

. How many centimetres in 2 metres?
. What is 1/8 of 407

. How many grams in 1 kilogram?
.54 +6 =

.18+3=

10. How many minutes in 5 hours?

9

10-Minute Mental Maths Drill - Day 177

. How many 10p coins do you need to make £5.707?
.3x4=

.Countin10s: 14,24,34, ,

. How many hundreds in 4867

. How many 10p coins do you need to make £4.307?
M1 =

. How many grams in 5 kilograms?

. How much change from £5 if you spend £1.35?

.4x10=

10.6 x 12 =



10-Minute Mental Maths Drill - Day 178

. How many 10p coins do you need to make £3.407?
. What is 2/10 of 10?

. Round 187 to the nearest 100

.8%x10 =

. How many days in 5 weeks?

. What time is 54 minutes after 10:007?

.67 +107 =

. What is 1/6 of 187

.96 +8=

10.130-77 =

8.

9.

10-Minute Mental Maths Drill - Day 179

. How many days in 5 weeks?
. What is 2/8 of 247?

. What is 1/4 of 207?

.59 +79=

.85+ 187 =

.231-131=

.Countin9s:3,12,21, ,

What is 1/3 of 367

How many centimetres in 1 metre?

10. Continue the pattern: 8, 18,29,  ,



10-Minute Mental Maths Drill - Day 180

1. Round 410 to the nearest 100
2.42+6=

3.205-108 =

4. How many days in 4 weeks?
5.96 + 160 =

6.3x12=

7.6x9=

8. Countin2s:13,15,17, _ ,
9. How many hundreds in 4957?

10. 197 - 121 =



Term 4 Answer Keys (Days 136-180)

Day 136 Answers:

1. How many grams in 1 kilogram? Answer: 1,000 g
2. How many grams in 1 kilogram? Answer: 1,000 g
3. What is 3/5 of 10?7 Answer: 6

4. How many days in 4 weeks? Answer: Varies

5. How many minutes in 1 hours? Answer: Varies
6. 120 + 12 = Answer: 10

7.10 x 4 = Answer: 40

8.247 - 132 = Answer: 115

9. Round 442 to the nearest 100 Answer: Varies

10. What is 2/3 of 9? Answer: 6
Day 137 Answers:

1. How many tens in 1657 Answer: Varies

2.12 x 2 = Answer: 24

3. 238 - 62 = Answer: 176

4.88 + 8 = Answer: 11

5. What is 8/10 of 30?7 Answer: 24

6. What time is 53 minutes after 11:007 Answer: Varies
7. How many centimetres in 3 metres? Answer: Varies
8.291 - 158 = Answer: 133

9. Round 152 to the nearest 10 Answer: Varies

10. 48 + 6 = Answer: 8
Day 138 Answers:

1.70 +7 = Answer: 10
2. What is 1/6 of 54? Answer: 9
3. What time is 31 minutes after 10:00? Answer: Varies

4.18 + 6 = Answer: 3



5.
6.
7.
8.

9.

How many minutes in 3 hours? Answer: Varies

20 + 10 = Answer: 2

What is 2/3 of 337 Answer: 22

How many centimetres in 1 metre? Answer: 100 cm

What time is 45 minutes after 11:00? Answer: Varies

10. 293 - 160 = Answer: 133

8.

9.

Day 139 Answers:

. Continue the pattern: 3, 18,29, ,  Answer: Varies
. What is 3/6 of 247 Answer: 12

. 173 - 88 = Answer: 85

. How many minutes in 1 hours? Answer: Varies

. What is 6/8 of 167 Answer: 12

. Continue the pattern: 6, 19,20, _,  Answer: Varies

. What is 9/10 of 80? Answer: 72

84 +7 = Answer: 12

6 x 8 = Answer: 48

10. How many days in 6 weeks? Answer: Varies

9.

Day 140 Answers:

. How many grams in 2 kilograms? Answer: Varies
. What is 2/6 of 30? Answer: 10

. 169 + 186 = Answer: 355

. Round 109 to the nearest 10 Answer: Varies

. 249 - 148 = Answer: 101

. How many days in 2 weeks? Answer: Varies

.10 x 4 = Answer: 40

.132 + 11 = Answer: 12

50 + 5 = Answer: 10

10. 8 + 4 = Answer: 2

Day 141 Answers:



9.

. 226 - 134 = Answer: 92

. What is 4/6 of 187 Answer: 12

.8 x 11 = Answer: 88

. What is 3/6 of 487 Answer: 24

.20 + 2 = Answer: 10

.Countin®6s:7,13,19, ,  Answer: Varies
. How many hundreds in 133? Answer: Varies

.4 x 11 = Answer: 44

10 x 10 = Answer: 100

10. How many tens in 6907 Answer: Varies

9.

Day 142 Answers:

. Continue the pattern: 3, 17,26, ,  Answer: Varies
. What is 2/5 of 307 Answer: 12

.Countin7s:15,22,29, ,  Answer: Varies

. 36 + 6 = Answer: 6

. What time is 21 minutes after 4:00? Answer: Varies

.40 + 5= Answer: 8

. 7 x7=Answer: 49

.8 x 6 = Answer: 48

How many 10p coins do you need to make £4.30? Answer: Varies

10. How many 10p coins do you need to make £3.507 Answer: Varies

Day 143 Answers:

. How many centimetres in 1 metre? Answer: 100 cm
.32 +8 = Answer: 4

. What is the value of 1 in 2787 Answer: Varies

. How many days in 8 weeks? Answer: Varies

. How many grams in 4 kilograms? Answer: Varies

.4 x 8 = Answer: 32

. What time is 44 minutes after 11:00? Answer: Varies

. How many tens in 3277 Answer: Varies



9.

How many hundreds in 3877 Answer: Varies

10. What is 2/3 of 24?7 Answer: 16

9.

Day 144 Answers:

. What is 9/10 of 70? Answer: 63

. What is 3/8 of 167 Answer: 6

. 126 + 143 = Answer: 269

. What is 5/8 of 24? Answer: 15

. How many tens in 6667 Answer: Varies

. How many grams in 1 kilogram? Answer: 1,000 g
. What is 6/10 of 50?7 Answer: 30

. How many centimetres in 1 metre? Answer: 100 cm

11 x 10 = Answer: 110

10. How many minutes in 5 hours? Answer: Varies

Day 145 Answers:

.90 + 10 = Answer: 9

. How many 10p coins do you need to make £2.00? Answer: Varies
. How many grams in 1 kilogram? Answer: 1,000 g

. What is 4/8 of 167 Answer: 8

. What is 1/3 of 187 Answer: 6

. How much change from £5 if you spend £2.25? Answer: Varies

. What is 5/8 of 40? Answer: 25

. Continue the pattern: 4, 20,28, ,  Answer: Varies

. What is 2/5 of 40?7 Answer: 16

10. 50 + 10 = Answer: 5

1.

2.

3.

4.

Day 146 Answers:

268 - 104 = Answer: 164
How much change from £5 if you spend £4.85? Answer: Varies
66 + 11 = Answer: 6

Round 50 to the nearest 10 Answer: Varies



5. Round 148 to the nearest 10 Answer: Varies

6. Continue the pattern: 3, 16,22, ,  Answer: Varies
7.112 - 55 = Answer: 57

8. What is 2/8 of 807 Answer: 20

9. How much change from £5 if you spend £2.357 Answer: Varies

10. 36 + 6 = Answer: 6

Day 147 Answers:

1. What is 1/5 of 20?7 Answer: 4

2.4 x 12 = Answer: 48

3. How many centimetres in 4 metres? Answer: Varies
4.48 + 12 = Answer: 4

5. 209 - 63 = Answer: 146

6. What is 4/5 of 10?7 Answer: 8

7. Round 51 to the nearest 10 Answer: Varies

8.6 x 4 = Answer: 24

9. What is 5/10 of 407 Answer: 20

10. 10 x 4 = Answer: 40

Day 148 Answers:

1. Continue the pattern: 7, 11,30, _ ,  Answer: Varies
2.108 + 12 = Answer: 9

3. How much change from £5 if you spend £3.457 Answer: Varies
4. 241 - 65 = Answer: 176

5.9+ 3 = Answer: 3

6.48 + 12 = Answer: 4

7. How many grams in 1 kilogram? Answer: 1,000 g

8. 108 + 12 = Answer: 9

9.5 x 12 = Answer: 60

10. 10 + 10 = Answer: 1

Day 149 Answers:



1.7 x 3 = Answer: 21
2. How much change from £5 if you spend £4.45? Answer: Varies
3. 270 - 144 = Answer: 126

4.4 x5 = Answer: 20

@)

. What is 3/4 of 40? Answer: 30

»

. 165 + 116 = Answer: 281

N

.3 x9=Answer: 27
8.290 - 110 = Answer: 180
9. 286 - 99 = Answer: 187

10. How much change from £5 if you spend £4.25? Answer: Varies

Day 150 Answers:

1.10 x 2 = Answer: 20

2.25+ 5= Answer: 5

3. How many grams in 3 kilograms? Answer: Varies

4. How many minutes in 1 hours? Answer: Varies

5. What is 1/6 of 247 Answer: 4

6.9 x 8 = Answer: 72

7.160 + 176 = Answer: 336

8. Continue the pattern: 5, 16,29, ,  Answer: Varies
9.108 + 167 = Answer: 275

10. What is 2/5 of 40? Answer: 16

Day 151 Answers:

1. How many minutes in 2 hours? Answer: Varies
2. How many days in 4 weeks? Answer: Varies

3. How many grams in 4 kilograms? Answer: Varies
4.54 + 6 = Answer: 9

5. What is 3/4 of 327 Answer: 24

6. 179 - 78 = Answer: 101

7. How many days in 3 weeks? Answer: Varies

8.5 x 7 = Answer: 35



9. How many 10p coins do you need to make £4.90? Answer: Varies

10. How many grams in 1 kilogram? Answer: 1,000 g

Day 152 Answers:

1.10 + 10 = Answer: 1

2. How many grams in 1 kilogram? Answer: 1,000 g

3. How much change from £5 if you spend £4.357 Answer: Varies
4.337 - 146 = Answer: 191

5.66 + 11 = Answer: 6

6. How much change from £5 if you spend £3.55? Answer: Varies

7. How many 10p coins do you need to make £2.60? Answer: Varies
8. How many days in 7 weeks? Answer: Varies

9. What is 1/2 of 47 Answer: 2

10. How many grams in 1 kilogram? Answer: 1,000 g

Day 153 Answers:

1.218 - 56 = Answer: 162

2.231-114 = Answer: 117

3. How much change from £5 if you spend £2.357 Answer: Varies
4. 266 - 130 = Answer: 136

5. How many centimetres in 3 metres? Answer: Varies

6. What is 2/5 of 307 Answer: 12

7. How many grams in 1 kilogram? Answer: 1,000 g

8. 69 + 139 = Answer: 208

9.2 x 2= Answer: 4

10. What is 1/2 of 8? Answer: 4

Day 154 Answers:

1. How much change from £5 if you spend £3.65? Answer: Varies
2. What is 1/3 of 67 Answer: 2
3. How many days in 3 weeks? Answer: Varies

4.10 x 9 = Answer: 90



5.
6.
7.
8.

9.

7 x 5 = Answer: 35

What is 3/8 of 887 Answer: 33

7 x 12 = Answer: 84

How much change from £5 if you spend £1.15? Answer: Varies

9 x 3 = Answer: 27

10. What is 2/3 of 24?7 Answer: 16

Day 155 Answers:

. How many hundreds in 121? Answer: Varies

. How many hundreds in 5507 Answer: Varies

. How many centimetres in 1 metre? Answer: 100 cm
. How many tens in 1917 Answer: Varies

.10 + 10 = Answer: 1

.58 + 111 = Answer: 169

. How many days in 8 weeks? Answer: Varies

. What is 1/3 of 30? Answer: 10

. What time is 8 minutes after 8:00? Answer: Varies

10. 63 + 7 = Answer: 9

9.

Day 156 Answers:

. What is 4/8 of 327 Answer: 16

. How many days in 7 weeks? Answer: Varies

. 72 + 6 = Answer: 12

. How many days in 5 weeks? Answer: Varies

. How many minutes in 4 hours? Answer: Varies
. Round 935 to the nearest 100 Answer: Varies
. What is the value of 5 in 7787 Answer: Varies

.21 +7 = Answer: 3

77 + 7 = Answer: 11

10. How many grams in 3 kilograms? Answer: Varies

Day 157 Answers:



1.40 + 5 = Answer: 8

2. How many minutes in 3 hours? Answer: Varies
3.8 x 4 = Answer: 32

4. What is 2/3 of 12? Answer: 8

5.7 x 8 = Answer: 56

6. 12 +4 = Answer: 3

7. What is 1/3 of 367 Answer: 12

8. 177 - 96 = Answer: 81

9. 11 x 9 = Answer: 99

10. How many centimetres in 5 metres? Answer: Varies

Day 158 Answers:

—

. What is 3/8 of 8?2 Answer: 3
2.4 x 10 = Answer: 40

3. How much change from £5 if you spend £2.757 Answer: Varies

I

. How many 10p coins do you need to make £4.707? Answer: Varies

($)]

. What is 3/8 of 80? Answer: 30

6.3 x 3 = Answer: 9

~

. How many minutes in 4 hours? Answer: Varies

oo

. What is 8/10 of 90? Answer: 72
9.10 x 9 = Answer: 90

10. How many hundreds in 6577 Answer: Varies

Day 159 Answers:

1.3 x 6 = Answer: 18

2.55 + 5 = Answer: 11

w

. How many 10p coins do you need to make £1.50? Answer: Varies

N

. Continue the pattern: 6, 14,28, |,  Answer: Varies
5.30 + 3 = Answer: 10
6. Continue the pattern: 5, 17,29, |, Answer: Varies
7.3 x 10 = Answer: 30

8.4 x 5 = Answer: 20



9.

Continue the pattern: 4, 18,30, ,  Answer: Varies

10. How many centimetres in 1 metre? Answer: 100 cm

9.

Day 160 Answers:

.20 + 5= Answer: 4

. 171 - 81 = Answer: 90

. What time is 35 minutes after 9:00? Answer: Varies
. How many tens in 4967 Answer: Varies

. 152 + 170 = Answer: 322

. What is 1/6 of 547 Answer: 9

. What is 1/6 of 72?7 Answer: 12

. What is 1/2 of 16? Answer: 8

How many grams in 1 kilogram? Answer: 1,000 g

10. What time is 18 minutes after 3:00? Answer: Varies

8.

9.

Day 161 Answers:

. Round 136 to the nearest 10 Answer: Varies

. How many days in 4 weeks? Answer: Varies

.9 %12 = Answer: 108

. How many days in 6 weeks? Answer: Varies

. How many 10p coins do you need to make £5.707 Answer: Varies
. How many centimetres in 5 metres? Answer: Varies

.12 + 6 = Answer: 2

How many 10p coins do you need to make £2.10? Answer: Varies

6 x 3 = Answer: 18

10. Countin 10s: 20, 30,40, ,  Answer: Varies

1.

2.

3.

4.

Day 162 Answers:

60 + 5 = Answer: 12
96 + 8 = Answer: 12
Continue the pattern: 9, 13,26, _ ,  Answer: Varies

What is 1/2 of 18? Answer: 9



5. Continue the pattern: 2, 11,25, ,  Answer: Varies

6. How much change from £5 if you spend £2.95? Answer: Varies
7.70 + 10 = Answer: 7

8. How many 10p coins do you need to make £4.50? Answer: Varies
9. Round 93 to the nearest 10 Answer: Varies

10. How many minutes in 3 hours? Answer: Varies

Day 163 Answers:

1. How many 10p coins do you need to make £3.30? Answer: Varies
2.54 + 9 = Answer: 6

3. Round 185 to the nearest 10 Answer: Varies

4. How many centimetres in 5 metres? Answer: Varies

5. What is 1/2 of 187 Answer: 9

6. 260 - 178 = Answer: 82

7. What is 9/10 of 1107 Answer: 99

8. What is 1/4 of 327 Answer: 8

9. How many centimetres in 1 metre? Answer: 100 cm

10. How many hundreds in 2917 Answer: Varies

Day 164 Answers:

1.4 x 12 = Answer: 48

2.6 x 10 = Answer: 60

3. How many 10p coins do you need to make £1.10? Answer: Varies
4.25+ 5= Answer: 5

5. 372 - 185 = Answer: 187

»

. How many minutes in 3 hours? Answer: Varies

7.96 + 164 = Answer: 260

8. Continue the pattern: 2, 20,25, ,  Answer: Varies
9.197 + 100 = Answer: 297

10. 12 + 12 = Answer: 1

Day 165 Answers:



9.

1

7.
8.

9

.7 %10 = Answer: 70

. Round 165 to the nearest 10 Answer: Varies

.7 x12 = Answer: 84

. How much change from £5 if you spend £4.85? Answer: Varies
. What is 3/6 of 667 Answer: 33

.12 + 3 = Answer: 4

. 293 - 167 = Answer: 126

. 112 + 188 = Answer: 300

174 + 53 = Answer: 227

0. 66 + 53 = Answer: 119

Day 166 Answers:

. What is 1/8 of 487 Answer: 6

.5 x9=Answer: 45

. 164 + 146 = Answer: 310

. 249 - 118 = Answer: 131

. 304 - 125 = Answer: 179

. How many 10p coins do you need to make £3.00? Answer: Varies
What is 6/10 of 50? Answer: 30

How many hundreds in 707? Answer: Varies

.11 x 9 = Answer: 99

10. What is 1/2 of 18?7 Answer: 9

N

»

~

Day 167 Answers:

. How much change from £5 if you spend £2.25? Answer: Varies
.10 x 9 = Answer: 90

.60 + 5 = Answer: 12

.48 + 12 = Answer: 4

.5 x 3 =Answer: 15

.Countin4s:1,5,9, |  Answer: Varies

. What is 1/6 of 727 Answer: 12

.8 x9=Answer: 72



9.

How many 10p coins do you need to make £1.50? Answer: Varies

10. What is 1/2 of 20? Answer: 10

9.

Day 168 Answers:

. What is 2/4 of 40?7 Answer: 20

. 182 - 101 = Answer: 81

. What is the value of 7 in 261? Answer: Varies
. What is 5/6 of 24?7 Answer: 20

. 110 + 184 = Answer: 294

.9 x 6 = Answer: 54

. What is 4/6 of 547 Answer: 36

.32 +4 = Answer: 8

131 - 67 = Answer: 64

10. How many days in 6 weeks? Answer: Varies

Day 169 Answers:

.24 + 3 = Answer: 8

. How many centimetres in 1 metre? Answer: 100 cm

. How many minutes in 3 hours? Answer: Varies

. 7 x4 =Answer: 28

.60 + 5 = Answer: 12

. What is 1/4 of 447 Answer: 11

. How much change from £5 if you spend £3.65? Answer: Varies
. How many days in 7 weeks? Answer: Varies

. 144 + 192 = Answer: 336

10. 5 x 7 = Answer: 35

1.

2.

3.

4.

Day 170 Answers:

27 + 3 = Answer: 9
Countin7s:5,12,19, ,  Answer: Varies
51 + 162 = Answer: 213

12 + 3 = Answer: 4



5. Round 108 to the nearest 100 Answer: Varies
6. 138 + 132 = Answer: 270

7. What is 1/5 of 30?7 Answer: 6

8. What is 1/2 of 127 Answer: 6

9. 149 + 128 = Answer: 277

10. What is 1/10 of 100? Answer: 10

Day 171 Answers:

1. 67 + 96 = Answer: 163

2. How much change from £5 if you spend £3.45? Answer: Varies

3. What is 4/8 of 567 Answer: 28

4.16 + 2 = Answer: 8

5. How many 10p coins do you need to make £5.70? Answer: Varies
6. Round 105 to the nearest 10 Answer: Varies

7.24 + 6 = Answer: 4

8.7 x 9 = Answer: 63

9. How much change from £5 if you spend £3.35? Answer: Varies

10. How many minutes in 5 hours? Answer: Varies

Day 172 Answers:

1.3 x 5= Answer: 15
2.256 - 176 = Answer: 80

3.8 x 7 = Answer: 56

I

. 148 + 160 = Answer: 308

($)]

. What is 1/2 of 6? Answer: 3

»

.33 +11 = Answer: 3

~

. How many days in 6 weeks? Answer: Varies
8. How many grams in 4 kilograms? Answer: Varies
9.18 + 2 = Answer: 9

10. 24 + 12 = Answer: 2

Day 173 Answers:



9.

. How much change from £5 if you spend £2.35? Answer: Varies
. How many grams in 1 kilogram? Answer: 1,000 g

. What time is 48 minutes after 7:00? Answer: Varies

. 132 + 11 = Answer: 12

.36 + 9 = Answer: 4

.8 x4 = Answer: 32

.209 - 70 = Answer: 139

.72 + 189 = Answer: 261

How many minutes in 3 hours? Answer: Varies

10. How many centimetres in 1 metre? Answer: 100 cm

7.
8.

9.

Day 174 Answers:

. 187 + 193 = Answer: 380

. What is 3/4 of 24?7 Answer: 18

. 154 + 129 = Answer: 283

. 162 - 70 = Answer: 92

. How many grams in 4 kilograms? Answer: Varies

. Round 115 to the nearest 10 Answer: Varies

328 - 128 = Answer: 200
304 - 148 = Answer: 156

160 + 154 = Answer: 314

10. Countin 2s:2,4,6, ,  Answer: Varies

Day 175 Answers:

. How many minutes in 4 hours? Answer: Varies
. How many minutes in 4 hours? Answer: Varies
. Round 65 to the nearest 10 Answer: Varies
.10 x 8 = Answer: 80

. 114 + 116 = Answer: 230

. Round 646 to the nearest 100 Answer: Varies

. 152 + 76 = Answer: 228

. 195 + 153 = Answer: 348



9.

10 x 9 = Answer: 90

10. 6 x 6 = Answer: 36

9.

Day 176 Answers:

.25+ 5= Answer: 5

. What time is 8 minutes after 1:00? Answer: Varies
.Countin3s:19,22,25, |,  Answer: Varies

. 152 + 51 = Answer: 203

. How many centimetres in 2 metres? Answer: Varies
. What is 1/8 of 40?7 Answer: 5

. How many grams in 1 kilogram? Answer: 1,000 g

.54 + 6 = Answer: 9

18 + 3 = Answer: 6

10. How many minutes in 5 hours? Answer: Varies

8.

9.

Day 177 Answers:

. How many 10p coins do you need to make £5.70? Answer: Varies
.3 x4 =Answer: 12

.Countin10s:14,24,34, .  Answer: Varies

. How many hundreds in 4867 Answer: Varies

. How many 10p coins do you need to make £4.307 Answer: Varies
.11 +11 = Answer: 1

. How many grams in 5 kilograms? Answer: Varies

How much change from £5 if you spend £1.35? Answer: Varies

4 x 10 = Answer: 40

10. 6 x 12 = Answer: 72

1.

2.

3.

4.

Day 178 Answers:

How many 10p coins do you need to make £3.40? Answer: Varies
What is 2/10 of 10?7 Answer: 2
Round 187 to the nearest 100 Answer: Varies

8 x 10 = Answer: 80



5.
6.
7.
8.

9.

How many days in 5 weeks? Answer: Varies

What time is 54 minutes after 10:00? Answer: Varies
67 + 107 = Answer: 174

What is 1/6 of 18?7 Answer: 3

96 + 8 = Answer: 12

10. 130 - 77 = Answer: 53

Day 179 Answers:

. How many days in 5 weeks? Answer: Varies

. What is 2/8 of 247 Answer: 6

. What is 1/4 of 20?7 Answer: 5

.59 + 79 = Answer: 138

. 85 + 187 = Answer: 272

.231-131 = Answer: 100
.Countin9s:3,12,21, _,  Answer: Varies
. What is 1/3 of 367 Answer: 12

. How many centimetres in 1 metre? Answer: 100 cm

10. Continue the pattern: 8, 18,29, ,  Answer: Varies

9.

Day 180 Answers:

. Round 410 to the nearest 100 Answer: Varies
.42 + 6 = Answer: 7

. 205 - 108 = Answer: 97

. How many days in 4 weeks? Answer: Varies

. 96 + 160 = Answer: 256

.3 x 12 = Answer: 36

.6 x 9 =Answer: 54

.Countin 2s:13,15,17, __,  Answer: Varies

How many hundreds in 4957 Answer: Varies

10. 197 - 121 = Answer: 76



& Congratulations! &
You've completed all 180 days of mental maths drills!

You're now ready for NAPLAN success!
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